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Question Id : 4255899651 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five

offices, namely, A, B,C,Dand E :

T Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

Sub questions

Question Number : 1 Question Id : 4255899652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the difference between total number of employees present in offices C and D together on
Tuesday and total number of employees present in offices A and E together on Thursday ?

1) 147

@ 271
(@) 151
@) 171

Options :

42558937556. 1
42558937557. 2
42558937558.3
42558937559. 4

Question Number : 2 Question Id : 4255899653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the respective ratio between total number of employees present in office B on Wednesday
and Thursday together and total number of employees present in office C on Monday and Friday
together ?

1 11:13
@ 9:11
B) 7:9
@ 7:11

Options :

42558937560. 1
42558937561. 2
42558937562. 3
42558937563. 4

Question Number : 3 Question Id : 4255899654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The number of employees present in office E on Monday is what precent more than the number of
employees present in office C on Thursday ?

(1) 34.78%

(2) 21.05%

(3) 55.25%

(4) 53.33%

Options :

42558937564. 1

42558937565. 2

42558937566. 3
42558937567. 4

Question Number : 4 Question Id : 4255899655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the average number of employees present in office B on Monday, Tuesday and Friday ?
(1) 143

@ 159
@) 153
@ 173

Options :

42558937568. 1
42558937569. 2
42558937570. 3
42558937571. 4

Question Number : 5 Question Id : 4255899656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The number of employees present in office A on Wednesday is what percent of the number of
employees present in office D on Friday ?

(1) 139%
@ 7
6 3
@ 612
Options :

42558937572. 1
42558937573.2
42558937574. 3
42558937575. 4



Question Id : 4255899651 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
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A B C D E
G 139 147 211 141 184
- 141 189 164 189 151
AR 115 141 159 156 136
T 89 223 120 147 113
ST 187 93 257 160 124

Sub questions

Question Number : 1 Question Id : 4255899652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HEER il FEAferdl C 3 D 3 1 faeret 3ufeera swe=nfedi 1 el S it Teanr &t Fraferl A 2R
E <M1 &1 et Sufter FH=nfal & e e § o a2 72

1) 147
@) 271
(3) 151
@) 171
Options :

42558937556. 1
42558937557. 2
42558937558. 3
42558937559. 4

Question Number : 2 Question Id : 4255899653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
THEAR 3T TEaR %1 et FEfed B ¥ suftem F=nfidl #1 Fa gean si1 e S Iphar &1 e
FrEfeE C o ufeera =il S e S&1 o A F1 ST © 2

(1) 11:13
2 9:11
(B) 7:9
(4 7:11
Options :

42558937560. 1
42558937561. 2
42558937562. 3
42558937563. 4



Question Number : 3 Question Id : 4255899654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 i FwETeE B H 39fed =@l ohi §e TEar ol shEierd C H Sufeed A=l i §e §

fepa i stfues &2

(1) 34.78%

) 21.05%
(3) 55.25%

}  53.33%
Options :
42558937564. 1
42558937565. 2

42558937566. 3
42558937567. 4

Question Number : 4 Question Id : 4255899655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Grar, TR AR YHar i FEted B suftuq s #1 oiga e et &2

(1) 143
(2) 159
(3) 153
(4 173
Options :

42558937568. 1
42558937569. 2
42558937570. 3
42558937571. 4

Question Number : 5 Question Id : 4255899656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TR 1 FrAferd A § SUferd o=l 1 S PRar i FwEied D H 3ufted el i Hed ®
fopan wfcera €2

_ Z
(D) 139§
7
@ 7
=
(3) 63
(4) 61E
3

Options :

42558937572. 1

42558937573.2

42558937574. 3

42558937575. 4

Sub-Section Number : 2
Sub-Section Id : 425589384



Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 4255899657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the experiment of determining better “Yoga Exercise’ out of two that can reduce the fat of urban
people of different age groups, which of the following is an intervening variable ?

(1) Area

(2) Yoga Exercise

(3) Food habit

(4) Fatof the people

Options :

42558937576. 1

42558937577. 2

42558937578.3
42558937579. 4

Question Number : 6 Question Id : 4255899657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

< U AT T STE-STer A FHE & el Sl o1 Hierdl &H 8 Hehdl €, 371 9 sgdl ANTeATy i
stasron fAuifa = & v o frefafaa § 9 = sw@ay ofed € 2

(1) &A

(2) drmaETE

(3) WHIH

(4) < <A1 H=T
Options :

42558937576. 1
42558937577. 2
42558937578.3
42558937579. 4



Question Number : 7 Question Id : 4255899658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following from higher level to lower level of scales of measurement involved in them :

A, Researcher divides the sample in two groups based on area of residence like ‘Urban’ and ' Rural’

Area.
B. A student has got 50 marks out of 60 marks in English language test.
C. A cricketer is given tenth rank as an allrounder.

D.  The height of a particular building is double than all other buildings in a street.
Choose the correct answer from the options given below :

(1) D.,CB, A

2} ABD,C

@ CBAD

@4 D,BCA

Options :

42558937580. 1
42558937581. 2
42558937582. 3
42558937583. 4

Question Number : 7 Question Id : 4255899658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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@ ABEDE

(3) CB,AD

(4 D,BC A

Options :

42558937580. 1
42558937581. 2
42558937582. 3
42558937583. 4



Question Number : 8 Question Id : 4255899659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors affect the internal validity of an experimental research ?
Placebo effect

Instrument Decay

Contemporary events

Hawthorne effect

monwp

Bias in selecting subjects in sample

Choose the most appropriate answer from the options given below :
() B,CandE Only

(2) B,Cand D Only

(3) A,CandD Only

(4) C DandEOnly

Options :

42558937584. 1

42558937585. 2

42558937586. 3
42558937587. 4

Question Number : 8 Question Id : 4255899659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) ad B, C IR E
(2) %ad B, C 3RD
(3) @A A, C 3D
(4) ¥4 C, D SRE
Options :

42558937584. 1
42558937585. 2
42558937586. 3
42558937587. 4



Question Number : 9 Question Id : 4255899660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following programmes/software can be used for quantitative data analysis ?

A, MSWORD

B. MSPOWER POINT
C. MSEXCEL

D. MS ACCESS

E SPSS

Choose the most appropriate answer from the options given below :
() A, C DandB Only

(2) A,DandE Only

(3) C DandE Only

(4) B,DandE Only

Options :

42558937588. 1

42558937589. 2

42558937590. 3
42558937591. 4

Question Number : 9 Question Id : 4255899660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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C. UHTH TR
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(1) ¥ A, C, D 3B
(2) %94 A, D SIRE
(3) @@ C, D #RE
(4) %FdA B, D HRE
Options :

42558937588. 1
42558937589. 2
42558937590. 3
42558937591. 4



Question Number : 10 Question Id : 4255899661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 11 :

List - I List - 11
A.  Mann Whiteny L. Product Moment method of correlation
B. Kendall II.  Test of homogeneity of variances
(e Bartlett III. U Test
D. Karl Pearson IV. Tau Test

Choose the correct answer from the options given below :
(1) A-II, B-MI, C-IV, D-I

(2)  A-IV, B-1lI, C-I1, D-1

(3)  A-lL, B-1V, C-I1, D-1

(4) A-1V, B-1, C-11I, D-II

Options :

42558937592. 1

42558937593. 2

42558937594.3
42558937595. 4

Question Number : 10 Question Id : 4255899661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Tt - 1 it - 11

A, B9 T . eHsY I TUE-T0 (dresR-ae) fafy
B. e [ TELON 1 HEETIT ] g0

C. ¥eae L. g 9dEm

D. el dEEd V. 213 9i&u

=1 fau o fawed § F W& SO T |

(1)  A-III, B-II, C-1V, D-I
(2) A-IV, B-1I, C-II, D-I
(3) A-IN, B-IV, C-II, D-I
(4) A-IV, B-1, C-II, D-II
Options :

42558937592. 1

42558937593. 2

42558937594. 3
42558937595. 4



Question Number : 11 Question Id : 4255899662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following programmes of UGC is not related to promotion of value and ethical
practices ?

(1) Jeevan Kaushal

(2) CARE

(3) Mulya Pravah

(4) National Resource Centre for Value Education (NRCVE)

Options :

42558937596. 1

42558937597. 2

42558937598. 3
42558937599. 4

Question Number : 11 Question Id : 4255899662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa # 4 favafagarem sTeM 6 &1 ®iF 91 FEHH Jod 3R STERId Yesll & GadE 8 Hafed
T2
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Options :

42558937596. 1
42558937597.2
42558937598. 3
42558937599. 4

Question Number : 12 Question Id : 4255899663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For the purpose of systematically fostering the culture of innovation in all HEIs, when did ministry
of Education establish ‘Innovation Cell" ?

(1) 2016
@) 2018
() 2019
@) 2020

Options :

42558937600. 1
42558937601. 2
42558937602. 3
42558937603. 4



Question Number : 12 Question Id : 4255899663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i I e Heordl | gerafeed €Y § F6HY i GER(d 1 9@l o % gAse fen wee | Ry
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(1) 2016
(2) 2018
(3) 2019
(4) 2020

Options :

42558937600. 1
42558937601. 2
42558937602. 3
42558937603. 4

Question Number : 13 Question Id : 4255899664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following commissions /committees (in field of education) in chronological order :
GNANAM Committee

Kothari Commission

National Knowledge Commission

MUDALIAR Commission

Yashpal Committe (Advice on Renovation and Rejuvenation of Higher Education)

e P

Choose the correct answer from the options given below :
1) DACEB

2 BDCEA

@) B DACE

4 D,BACE

Options :

42558937604. 1

42558937605. 2

42558937606. 3
42558937607. 4



Question Number : 13 Question Id : 4255899664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o1eq % & § = FeAfarfaa sam/afafaal 1 sy § et %1

A.  FH gfHfq

B. ISR @M

C. U=EHE IH M@
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() DA CEB

2y B.D.CEA

(3) B D,ACGE

(4 D, B, ACE

Options :

42558937604. 1
42558937605. 2
42558937606. 3
42558937607. 4

Question Number : 14 Question Id : 4255899665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following institutions are among Top Ten institutions in the category of research
institutions in India Ranking : 2024 released by NIRF ?
Indian Institute of Technology, Delhi

Tata Institute of Fundamental Research

Indian Institute of Technology, Kanpur

Indian Institute of Technology, Indore

Indian Institute of Technology, Madras

Choose the correct answer from the options given below :
(1) A,CandD Only

(2) B,DandE Only

(3) B, Cand D Only

4) A, CandE Only

Options :

42558937608. 1

42558937609. 2

42558937610. 3
42558937611. 4

moNw e



Question Number : 14 Question Id : 4255899665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) %ad A, C 3R D

(2) <@d B, D SHARE

(3) o@a B,C #RD

(4) FIA A, C RE
Options :

42558937608. 1
42558937609. 2
42558937610. 3
42558937611. 4

Question Number : 15 Question Id : 4255899666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 11 :

List - 1 List - 11
(Four Independent Verticals of HECI) (Major Function)
A. HEGC L. Frame graduate attributes
B. GEC II. Common Single Point Regulator
C. NAC IIl. Funding and Financing of Higher
Education
D. NHERC IV. Accreditation of Institutions

Choose the correct answer from the options given below :
(1) A-IL B-I, C-IV, D-III

(2) A-II, B-II, C-IV, D-I

(3) A-IV, B-1II, C-II, D-I

(4) A-II, B-I, C-IV, D-II

Options :

42558937612. 1

42558937613. 2

42558937614. 3

42558937615. 4



Question Number : 15 Question Id : 4255899666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-IL B, C-IV, D-III
(2) A-II, B-1I, C-1V, D-I
(3) A-IV, B, C-1I, D-I
(4) A-II, B-I, C-IV, D-II

Options :

42558937612. 1

42558937613. 2

42558937614.3
42558937615. 4

Question Number : 16 Question Id : 4255899667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Model depicts communication asa process by which communicators send messages / feedback
simultaneously to one another ?

(1) Socio-cultural
(2) Socio-psychological
(3) Interactional
(4) Transactional
Options :
42558937616. 1
42558937617. 2

42558937618. 3
42558937619. 4



Question Number : 16 Question Id : 4255899667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafea # | forg wisa § 99R & UHT 9feran & w9 § Socifad foman w2 ¢ fodes mregm 8 Jus T Tl
<l T9d Heyl/Afagfte der 8 ?
1) ISR -HieRfas
(2) WIS —HAE
) ST ATHE
) HHAmNHE
Options :
42558937616. 1
42558937617.2

42558937618. 3
42558937619. 4

Question Number : 17 Question Id : 4255899668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one is not a type of communication modality ?
(1) Proxemics

(2) Heptics

(3) Chronotoxics

(4) Crestures
Options :

42558937620. 1

42558937621. 2

42558937622. 3
42558937623. 4

Question Number : 17 Question Id : 4255899668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafaa § | 9 91 909 YTl s Yo T8 2 2

(1) ETHreTeRT (e )

(2) w9 fomm (2fesd)

(3) R

(4) sma-sfmE (Sea)
Options :

42558937620. 1
42558937621. 2
42558937622. 3
42558937623. 4



Question Number : 18 Question Id : 4255899669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following chronologically on the basis of their launch year :
A.  Swayamprabha

B. Krishi darshan

C. Gyandarshan

D. PM _eVidya

Choose the correct answer from the options given below :
(1) C.ABD

2y ACD,B

3 BCAD

@) ABDC
Options :
42558937624. 1
42558937625. 2

42558937626. 3
42558937627. 4

Question Number : 18 Question Id : 4255899669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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() C, A BD
(2) A CD,B
(3) B,CAD
(4 ABDC
Options :
42558937624. 1
42558937625.2

42558937626. 3
42558937627. 4



Question Number : 19 Question Id : 4255899670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are required to become a good listener ?
Keep quite while listening

Listen with negative attitude towards the speaker

Show interest in the speaker

Focus on the dress and appearance of the speaker

monwp

Keep your mind open to every subject and speaker
Choose the correct answer from the options given below :
(I) A, BandCOnly
(2) B,Cand D Only
(3) A, CandE Only
(4) C DandEOnly

Options :

42558937628. 1
42558937629. 2

42558937630. 3
42558937631. 4

Question Number : 19 Question Id : 4255899670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W g1 B % foru freforaa § 9§ fo =St = e streeas €2
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(1) aa A, B3R C

(2) %ad B, C 3RD

(3) Fad A, C HARE

(4) %Fa C, D 3RE
Options :

42558937628. 1
42558937629. 2
42558937630. 3
42558937631. 4



Question Number : 20 Question Id : 4255899671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 11 :

List - I List - II
A.  Public Communication L. Communicating with oneself
B. Group Communication 1. face to face Communication with another person
C. Intrapersonal Communication [lI. whenmany people participate in communication with
each other
D. Interpersonal Communication IV. one person speaking to a large number of people

Choose the correct answer from the options given below :
(1) A-II, B-MI, C-IV, D-I

(2) A-IV, B-lII, C-I, D-II

(3)  A-L B-II, C-II, D-IV

(4) A-1V, B-1, C-11, D-1II

Options :

42558937632. 1

42558937633. 2

42558937634. 3
42558937635. 4

Question Number : 20 Question Id : 4255899671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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D. sfdafaas d9R IV. U Sgfad o1 deq S&A | i ol sor
= feu T fasredi § ¥ a3 I |

(1)  A-II, B-II, C-1V, D-I

(2) A-IV, B, C-1, D-II

(3) A-I, B-I, C-TII, D-IV

(4) A-IV, B-I, C-II, D-III

Options :

42558937632. 1

42558937633.2

42558937634. 3
42558937635. 4



Question Number : 21 Question Id : 4255899672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A boat takes an hour to cover a certain distance downstream in a river. It takes 11 hour to cover the

same distance upstream. Assuming that the speed of boat is same in both downstream and upstream
directions, what is the ratio of speed of boat to that of stream in the river ?

1 2:3
@ 5:1
@) 3:2
@ 5:2

Options :

42558937636. 1
42558937637. 2
42558937638. 3
42558937639. 4

Question Number : 21 Question Id : 4255899672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et T/ 1 T UR-veR (SRAwm) # fom § o ot @@ F H U He @ 9 @ €
yryare & fawia (roegm) faon ® So € gt 09 1 § 39 2% U 1 9Wd o § 1 WH ofifay fR
SISTEM 2R ARL™ SHET fognedl § 9@ #1951 99 € 91 39 W § 96 #9531’ 96 & 99 61 95

1 STIG F1E 7

1 2:3

) 5:1

(3) 3:2

@ 5:2
Options :

42558937636. 1
42558937637. 2
42558937638. 3
42558937639. 4

Question Number : 22 Question Id : 4255899673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Two persons A and B finish a work in 10 days. A is twice as efficient than B. How many days A will
take to finish the work, if he has to do it alone ?

(1) 8days

(2) 12days

(3) 15days

(4) 18 days
Options :

42558937640. 1

42558937641. 2

42558937642. 3
42558937643. 4



Question Number : 22 Question Id : 4255899673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A ST B Tt =/ %1 10 feoi & g o0 €1 A &1 FEFIe B ¥ SR €1 e A 1 oTRe 39w
P AT 1 A1 3H 38w H foha fod & ?

(1) 8fea
(2) 12 feA
(3) 15 fea
(4) 18 feA
Options :

42558937640. 1
42558937641. 2
42558937642. 3
42558937643. 4

Question Number : 23 Question Id : 4255899674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in increasing order of their values :

A (012
¥
B. (.1
(%)
o9 (0.005]%
D. (0.04]%

Choose the correct answer from the options given below :
1 ACDB

2) ACBD

@ D,BCA

4 CBDA

Options :

42558937644. 1

42558937645. 2

42558937646. 3
42558937647. 4



Question Number : 23 Question Id : 4255899674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fr=fafiaa 1 9% UF & R W) 9ed 9 T safiem Fifsd |

A. (013
1 V2
5 )
c ((}.005}’1’é
D. mm%
= feu T fasredi # & @ Fa o |

(1} A, CDB
(20 ACBD
(3) D,B.C A
(4 CB,D A
Options :
42558937644. 1
42558937645. 2

42558937646. 3
42558937647. 4

Question Number : 24 Question Id : 4255899675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the correct statements :
b ¥
A (216)7 > (169)
B. The next term in the series 2, 7, 28, 63, 126, ....... is 217

€. The area of equilateral triangle of side 10 cm is 25J§

1
D. The average of the following observations —2, —1,0, +1, +2, +31is 5

Choose the correct answer from the options given below :
(1) CandD Only

(2) B,Cand D Only

(3) AandD Only

(4) A,CandD Only

Options :

42558937648. 1

42558937649. 2

42558937650. 3
42558937651. 4



Question Number : 24 Question Id : 4255899675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el FoA! 1 9gTH H |
% 1

A (216) > (159}’/2
T T N, G 1 AT IS 217 T
C. 10T, o % goamg Y= #1 &%a 2543 ©

1
D. fr=fafea damr -2, —1,0, +1, +2, +Saﬁraﬂuﬁ5 2

9 feu o fosredl & ¥ Ol 3 T |
(1) C 3R D %aa
(2) B, C 3R D Fad
(3) A 3R D Had
(4) A, C 3R D %aa
Options :

42558937648. 1
42558937649. 2
42558937650. 3
42558937651. 4

Question Number : 25 Question Id : 4255899676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List-1 List - I1
17 2
Al (343]% — (81]/1 is equal to L 100
B. 12 x 4% x 8 = 2¥the x is equal to L. 200
C s =) al M. 4
: (1.01 +1) 15 equal to 3
D. A train moving with speed of 90 km/hour crosses a V. 23

platform of length 100 m in 12 second. The length (m)
of the train is

Choose the correct answer from the options given below :
(1) A-II, B-IV, C-I, D-II

(2)  A-1I, B-1V, C-lII, D-1

(3)  A-IL B-IIL C-1V, D-II

(4) A-l, B-IV, C-1, D-1

Options :

42558937652. 1

42558937653. 2

42558937654. 3
42558937655. 4



Question Number : 25 Question Id : 4255899676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 131 G - 11§ gafer =1
el - 1 et - 1

A (343)5 - (81)4 = L fﬁ
B. dfg28 x 43 x 83 = 2¥% 4 . 200
xH HA S
(1.01)% - (1)
. aol+1 - . &
D. oofFen i ufa e w19 9 Iv. 23
T AT el 100 . T @ZEH F
12 ¥ve § IR I B A TS R FEOE
= feu 1o faskedi § ¥ e 3 9 |

(1) A-II, B-1V, C-I, D-II

(2) A-II, B-IV, C-II, D-I

(3) A-l, B-III, C-IV, D-II

(4) A-II, B-1V, C-II, D-I
Options :

42558937652. 1
42558937653. 2
42558937654. 3
42558937655. 4

Question Number : 26 Question Id : 4255899677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a group of 40 people, 25 people speak Hindi and 20 people speak both Hindi and Urdu. All the
people speak atleast one of the two languages. How many people speak Urdu ?

1) 65

@ 15
() 45
@) 20
Options :

42558937656. 1
42558937657. 2
42558937658. 3
42558937659. 4



Question Number : 26 Question Id : 4255899677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

40 @R % HHE H 25 @ fed sierd @ #iw 20 @ fel oiie 3 31 sfted 81 @t & S § 9 %W 8 5
T 91 Sierd &, 91 3 & o fohe & 38 dreia 8 2

(1) 65
(2) 15
(3) 45
(4) 20

Options :

42558937656. 1
42558937657. 2
42558937658. 3
42558937659. 4

Question Number : 27 Question Id : 4255899678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The fallacy where the conclusion does not logically follow from the premises is called :
(1) Adhominem

(2) Straw man

(3) Non-sequitur

(4) Red herring

Options :

42558937660. 1

42558937661. 2

42558937662. 3
42558937663. 4

Question Number : 27 Question Id : 4255899678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o8 e a1y forgd freerd arfeher &9 & e el § 3gd T o1 &, FHee € ;
(1) =AfFRAT A (TERHTH)

2 =

(3) -fasares

(4) e
Options :

42558937660. 1
42558937661. 2
42558937662. 3
42558937663. 4



Question Number : 28 Question Id : 4255899679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the four noble truths of Buddhism in the chronological order :

A. Nirodha
B. Marga/Magga
C. Dukha

D. Samudaya

Choose the correct answer from the options given below :
(1) B ACD

2y CDA,B

@) DCBA

4 ACB,D

Options :

42558937664. 1

42558937665. 2

42558937666. 3
42558937667. 4

Question Number : 28 Question Id : 4255899679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

|15 H oF TR 274 Wl I TR H i it |

A, T

B. HW /T

C. ©§¥9

D. ®HHE

g fou o fosmedi ® ¥ Wl W T |

(i BAGCD
(2) CDAB
3) D,CB,A
(4 A CB,D
Options :
42558937664. 1
42558937665. 2

42558937666. 3
42558937667. 4



Question Number : 29 Question Id : 4255899680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are valid deductive forms of reasoning ?
A.  Modus Ponens

B. Modus Tollens

C.  Hypothetical syllogism

D.  Argument from analogy

Choose the most appropriate answer from the options given below :
(I) AandBOnly

(2) A, Band COnly

(3) A,BandD Only

(4) Cand DOnly
Options :
42558937668. 1
42558937669. 2

42558937670. 3
42558937671. 4

Question Number : 29 Question Id : 4255899680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR F Ay TR ey fefafaa § 4 S E 2

A, Hed UHE

B. HIEH Ieid

C. UiheATHE =T

D. Hgvad d g ()

g fou o fosmedi ® ¥ Wl W T |
(1) oA A 3B

(2) %A A, BIRC

(3) FFA A, B3RD

(4) I C 3R D

Options :

42558937668. 1
42558937669. 2
42558937670. 3
42558937671. 4



Question Number : 30 Question Id : 4255899681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 11 :

List - I List - II
A.  Ad hominem L. Mistaking correlation for causation
B. Straw man 1. Attacking the person instead of issue
C.  False cause [ll. Misrepresenting someone’s argument
D. Red Herring [V. Diverting attention to another issue

Choose the correct answer from the options given below :
(1) A-IV, B-II, C-1, D-III

(2)  A-IL, B-lII, C-1, D-IV

(3)  A-IL B-1, C-II, D-IV

(4) A-lL, B-II, C-I, DIV

Options :

42558937672. 1

42558937673. 2

42558937674.3
42558937675. 4

Question Number : 30 Question Id : 4255899681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 1 &1 Gl - 1§ gaferd =1 |
Tt - 1 it - 11

A. Uz dfEm . eHaY F1 FREE THSH H e FA
B. WM [I. Wt i aomd safed 92 STRRaT &l
C. Ticd ®id 11, fodl =afaa & @ o1 e fream

D. Yesefm V. & faug (4gR) # 7% = & faged
=1 fau o fawed § F W& SO T |

(1) A-IV, B-II, C-1, D-1II
(2) A-II, B-II, C-1, D-IV
(3) A-IL B, C-IIl, D-IV
(4) A-IN, B-1I, C-I, D-IV
Options :

42558937672. 1

42558937673. 2

42558937674. 3
42558937675. 4



Question Number : 31 Question Id : 4255899682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to Bloom’s CAP Classification of Educational Objectives, is an example of
Psychomotor Domain.
(1) Organizing
(2) Application
(3) Manipulation
(4) Comprehension
Options :
42558937676. 1
42558937677. 2

42558937678. 3
42558937679. 4

Question Number : 31 Question Id : 4255899682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sreqforen Sggvdl & =M % G U A (W) Sl F SHEN AU WA SR 2
(1) HaEH
(2) TR
(3) BEEeE (F-H)
(4) HHH
Options :
42558937676. 1
42558937677. 2
42558937678. 3
42558937679. 4

Question Number : 32 Question Id : 4255899683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Verbal Association Learning” was proposed by :
(1) Melton

(2) Thorndike

(3) Cronbach

(4) Gagne

Options :

42558937680. 1

42558937681. 2

42558937682. 3
42558937683. 4



Question Number : 32 Question Id : 4255899683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“rifezer Treerd R’ g i 9 2
(1) HeA

(2) ofHEE®

(3) HHAH

(4) T

Options :

42558937680. 1
42558937681. 2
42558937682. 3
42558937683. 4

Question Number : 33 Question Id : 4255899684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the important events according to the Erickson’s Eight Stages of Psychosocial development
sequentially :

Toilet training

Feeding

Reflections and acceptance on one’s life

BinEp

Love relation

Peer relationships

Choose the correct answer from the options given below :
1 ACBDE

2 CABDE

3) BAEDC

4 ADECB

Options :

42558937684. 1

42558937685. 2

42558937686. 3
42558937687. 4



Question Number : 33 Question Id : 4255899684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A.  Vir=eE qigTe

B. Taam

C. 39 Sfem T feaq oir wiegfa
D. 9" gay

E. HHHsE &y

T feu o foemedi # ¥ W@ 3 T |
() A CB,DE

5 CABDE

(3) B AED,C

(4 A, DECB

Options :

42558937684. 1
42558937685. 2
42558937686. 3
42558937687. 4

Question Number : 34 Question Id : 4255899685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Some statements are given below. Mark the ‘Right’ combination :

A.  Teaching is included in learning - True

B. Post active stage of teaching provides a corrective and remedial scope of teaching - False
C.  Teaching is included in learning - False

D.  Post active stage of teaching provides a corrective and remedial scope of teaching - True
Choose the correct answer from the options given below :

(I) AandD Only

(2) CandBOnly

(3) Aand B Only

(4) CandDOnly
Options :
42558937688. 1
42558937689. 2

42558937690. 3
42558937691. 4



Question Number : 34 Question Id : 4255899685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= sfaqg FeH fau T €1 wE g o fawsiiea & |

A, e T fowo sfafEe ® - T

B.  foretor o1 3eR Wik a1awen ¥ 1A 1 QURICHS 3T IR & S9e eIl € | - 7o
C. sty # foemn sfafe € - e

D. fowon it R AiFET sTawen § e 1 GUas S STEE A SUes O €1 - T

T feu o foswedi ® ¥ Ol W T |
(1) o&a A SRD

(2) oed C 3B

(3) HIA A 3R B

(4) FFA C 3R D

Options :

42558937688. 1
42558937689. 2
42558937690. 3
42558937691. 4

Question Number : 35 Question Id : 4255899686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 11 :

List - 1 List - 11
(Mental approaches) (Objectives related with)
A.  Recall L. Understanding
B. Discrimination II. Knowledge
C. Hypothesis establishment III. Creativity
D. Evaluation IV. Application

Choose the correct answer from the options given below :
(1) A-IL B-1V, C-1, D-1II

(2) A-IL B-1, C-1V, D-1II

(3) A-IV, B-1II, C-I1, D-I

4) A-IV, B-II, C-1, D-III

Options :

42558937692. 1

42558937693. 2

42558937694. 3
42558937695. 4



Question Number : 35 Question Id : 4255899686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oo - 1 9 T - 1 e
eI - 1 Tt - 11

(WTAfHeR 3T ) ( Haiferm 33899 )
A, ETTER [ 11
B. ¥gvE . M
C. Ul T [II. gorrcHehal
D. Hedi®A V. S9am
9 feu o foesredi § O Wl 39 T |

(1) A-II, B-IV, C-1, D-III
(2) A-II, B-l, C-1V, D-1II
(3) A-IV, B, C-1I, D-I
4) A-IV, B-1I, C-I, D-1II

Options :

42558937692. 1

42558937693. 2

42558937694. 3
42558937695. 4

Question Number : 36 Question Id : 4255899687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

PSTN stands for :

(1)  Public Service for Technical Networks
(2) Public Switched Telephone Network
(3) Public Satellite Television Network
(4) Public Safety Trademark Network
Options :

42558937696. 1

42558937697. 2

42558937698. 3
42558937699. 4



Question Number : 36 Question Id : 4255899687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
0 wE 3 A 1 A fEud ® 2
(1) fscrer Hfey ® foea Feaed
(2) i fa=e Zfaem F=aF
(3) Tfecter HewEe ZElltasH Jeah
(4) feerr HW ZSHRER AeEE

Options :

42558937696. 1
42558937697. 2
42558937698. 3
42558937699. 4

Question Number : 37 Question Id : 4255899688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The decimal number equivalent to binary digit 110 is

1 4
@ 5
@) 6
@ 7
Options :

42558937700. 1
42558937701. 2
42558937702. 3
42558937703. 4

Question Number : 37 Question Id : 4255899688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fasmumdt 29 110 % 9qed e H&AT € -

(1y 4
(2 35
3 6
() 7
Options :

42558937700. 1
42558937701. 2
42558937702. 3
42558937703. 4



Question Number : 38 Question Id : 4255899689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the ‘RIGHT statements :

CISCO is a Hockey manufacturer

VLC is Visible Light Communication

SDN is System of Digital Network

HyperCatis an Open JSON based Catalog format
SoC is Sequence of Choice

monwp

Choose the correct answer from the options given below :
(I) AandBOnly

(2) Band COnly

(3) CandE Only

(4) Band D Only

Options :

42558937704. 1

42558937705. 2

42558937706. 3
42558937707. 4

Question Number : 38 Question Id : 4255899689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

&l Al oh U

A, el gl fafwiar g

B. o U@ Hf gy YW HER B |

C. Ug & A F ard fefea Jead & fowm 3 71
D. TRWHE UF o 96T ST Feai gy ¢
E. U™ W % areqd Wiy e =y ¥ S

T feu o fawredi ® ¥ W@ 3 T |

(1) <Fael A AR B

(2) %ad B&RC

(3) @@a C 3RE

(4) I B SR D
Options :

42558937704. 1
42558937705. 2
42558937706. 3
42558937707. 4



Question Number : 39 Question Id : 4255899690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the ‘RIGHT statements :

IoT term was first used by Ashton in context to supply chain management with RFID-tags
Bluetooth 4.0 is working on the frequency range of 2.4 MHz

Gyroscope is normally related to the motion sensors

[Pvé6 is related to the coding of vaccines protocol

mgNwp

G5M is global sequence of Mechanics

Choose the correct answer from the options given below :
(I) AandBOnly

(2) DandE Only

(3) AandCOnly

(4) Band D Only

Options :

42558937708. 1

42558937709. 2

42558937710. 3
42558937711. 4

Question Number : 39 Question Id : 4255899690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el e g |

A, E 30 T TAN HE YUH X UE ST S H Sl gEen yeY % ool # vyed gamw fean mn
o |

B. w29 4.0 33T 91 2.4 HTRES H #1d Fm B

C.  STEIRERIY WrHT=raT HieH d49i | Hafem gan 2

D. aTE dt & 6 FH TIER F Feds H Hald B

E. St UH UH & e welad faged e Hehfey | ¢ |

e feu o faskedi ® ¥ wE 3o 97 |

(1) %FFa A 3B

(2) Fae D ARE

(3) HFA A IRC

(4) A B ERD

Options :

42558937708. 1
42558937709. 2
42558937710. 3
42558937711. 4



Question Number : 40 Question Id : 4255899691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 11 :

List - I List - II

(Type of Processor) (Characteristics)
A.  CISC Processors I, Operating system controls overall assignment of tasks
B. RISC Processors IT. Use explicit parallelism
C. EPIC Processors IIIl. These possess so many processing features, making

the job of machine language programmers easier
D.  Multicore Processors I[V. Have a small instruction set
Choose the correct answer from the options given below :
(1) A-IL B-1, C-IV, D-III
(2)  A-IL, B-1V, C-I1, D-1
(3)  A-II, B-1V, C-1, D-1II
(4) A-lI, B-1I, C-1IV, D-I
Options :
42558937712. 1
42558937713. 2
42558937714. 3
42558937715. 4

Question Number : 40 Question Id : 4255899691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oAt - 1 %1 el - 11§ gaferd &1 |
Tl - 1 Tt - 11

( WHEET T U ) ( fergrerar)
| &S T 9 . e fowew & & 990 fHevm o faha s e
B. &R 31 U¥ 9 YW 1. 399 T guHiadr & Jan el &
% T o1 W I . = wga o wrafgn fodmand fafea € o aefiet o
R =1 S SrferE g B S €
D. WeER TR V. 38H @Y a9 9= 2l €
9 fau o faeedi § 9 wd W g |

(1) A-II, B, C-IV, D-III
(2) A-II, B-1V, C-II, D-I
(3) A-II, B-IV, C-1, D-1II
(4) A-IN, B-II, C-1V, D-I

Options :

42558937712. 1

42558937713. 2

42558937714.3
42558937715. 4



Question Number : 41 Question Id : 4255899692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per Noise Pollution (Regulation and control) Act (2000), the permissible noise level (Leq) during
the day for silence zones is :

(1) 55dB(A)

(2) 50dB(A)

(3) 45dB(A)

(4) 65dB(A)

Options :

42558937716. 1

42558937717. 2

42558937718.3
42558937719. 4

Question Number : 41 Question Id : 4255899692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

waf yguor (faframa s fasmn) sifafqam, 2000 % S8R, R (FEcd §H) # 59 % 99g sgad
55 TR (L) B :

(1) 55 SfEaa(A)
(2) 50 =fEas(A)
(3) 45 SfEad(A)
(4) 65 SfEaT(A)
Options :

42558937716. 1
42558937717.2
42558937718. 3
42558937719. 4

Question Number : 42 Question Id : 4255899693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following pertains to Clean Development Mechanism (CDM) under Kyoto Protocol ?
(1) Getting Certified Emission Reductions (CER) credits for industrialised countries

(2) Reducing noise pollution

(3) Decreasing amount of chlorofloro carbons

(4) Maintaining ozone layer

Options :

42558937720. 1

42558937721. 2

42558937722.3
42558937723. 4



Question Number : 42 Question Id : 4255899693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefiaa ® & 0 e Werr & siaid e fowm o= (56 <) | gafed 82
(1) afefirer 29 & fou yofor Seosi e (4 § o) hfee wre &
(2) =& RO e
(3) FENUTEIN e bl AT H FHHl FEAT
(4)  STSIE T oH1 SR SR

Options :

42558937720. 1
42558937721.2
42558937722.3
42558937723. 4

Question Number : 43 Question Id : 4255899694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the phases of modern approach to disaster management in order (from initial to final) :
A.  Recovery

B. Preparedness

C. Response

D. Mitigation

Choose the correct answer from the options given below :
1) CBAD

2) D,B.CA

@) A4A.BC.D

4) BCAD
Options :

42558937724. 1

42558937725. 2

42558937726. 3
42558937727. 4



Question Number : 43 Question Id : 4255899694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HI9ET T A % SR IUTTH ol AR | Afon 9% % wE H el Hif
A, JAETH

B. dOd

C. eHfwEa

D.  IWA/gARET

T feu o foswedi ® ¥ Ol W T |
() CB,AD

(2 D,BCA

3 ABCD

(4) B, CAD

Options :

42558937724. 1

42558937725. 2

42558937726. 3
42558937727. 4

Question Number : 44 Question Id : 4255899695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements regarding environmental incidents from the following :
Bhopal accident was due to methyl isocyanate

Hiroshima and Nagasaki incident was due to radioactivity

Bhuj incident occurred due to poison gas

e

Fukushima nuclear power plant incident was due to earthquake
Chernobyl accident in Soviet Union occurred due to volcano
Choose the correct answer from the options given below :

(I) A,BandCOnly

(2) A,BandD Only

(3) A,C and E Only

(4) C DandE Only

Options :

42558937728. 1

42558937729. 2

42558937730. 3
42558937731. 4



Question Number : 44 Question Id : 4255899695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el el % dey o frafafes § 9 98 wum gfe
fremee T2 o RO dTel 19 Aet g8 off |
YfeAmfHar o Fror felfem SR AFTarER 1 =2 g3 off |
fatielt %9 3 FRw < T g wfed g8 o |

Tep FOTHT THTY] S5S1l WA bt 5I2A1 Yahd oF R0 &3 o |

E. Hifad 59 & =Fifae gHedl SacanE! o R Hfed g8 of |

o NP

T feu o foemedi # ¥ W@ 3 T |
(1) oed A, B3RC

(2) %Fa A, B3RD

(3) Faa A, C 3IRE

(4) FFa C, D 3RE

Options :

42558937728. 1
42558937729. 2
42558937730. 3
42558937731. 4

Question Number : 45 Question Id : 4255899696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - 1 List - 11
(Waste Disposal Method) (Characteristics)
A, Modern Landfilling I. Reduced waste volume
B.  Openland dumping II. ~ Well engineered and managed facility
C. Incineration [II.  Ecofriendly process
D.  Bioconversion into compost IV. Low cost of dumping

Choose the correct answer from the options given below :
(1) A-IL B-III, C-1IV, D-I

(2) A-II, B-NI, C-1, D-IV

(3) A-IIL B-1V, C-1, D-III

(4) A-II, B-1, C-II1, D-IV

Options :

42558937732. 1

42558937733. 2

42558937734. 3

42558937735. 4



Question Number : 45 Question Id : 4255899696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T - 131 g - 11§ gafer 1|
el - 1 e - 11

( erufyTee Freamoor fafir ) ( fargrean)
A, SR Y-E . wfed sTafme 1 A
B. W 4| ued . g-sAfvraa sl yeifaa gfasn
C. <A [II. e grifeafash Tehel UehH
D. @ H Sa-guftad IV. YA % =7 Ard
9 feu o foswedi § O Wl 39 T |

(1)  A-IL BHIL C-IV, D-I
(2) AL B C-I, D-IV
(3) A-IL BV, C-1, D-III
(4)  A-IL B, C-lII, D-IV

Options :

42558937732. 1

42558937733.2

42558937734. 3

42558937735. 4

Sub-Section Number : 3
Sub-Section Id : 425589385
Question Shuffling Allowed : No



Question Id : 4255899697 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transport and circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens’ meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

Sub questions

Question Number : 46 Question Id : 4255899698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Cities can be made more worth-living if they :

(1) are vigorously planned to serve the needs of the people
(2) have only good transportation facility

(3) have many hospitals

(4) have only more cinemas and sources of entertainment
Options :

42558937736. 1

42558937737. 2

42558937738.3
42558937739. 4

Question Number : 47 Question Id : 4255899699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What could be the most suitable title for the passage ?
(1) Towns versus Animals

(2) Theneed for planned cities

(3) Modern cities : Benefits and Shortcomings

(4) How to develop a Global city

Options :

42558937740. 1

42558937741. 2

42558937742.3
42558937743. 4

Question Number : 48 Question Id : 4255899700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The word “drastic’ in the passage means :
(1) Radical

(2) Orderly

(3) Consistent

(4) Determined

Options :

42558937744. 1

42558937745. 2

42558937746. 3
42558937747. 4

Question Number : 49 Question Id : 4255899701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The phrase ‘Unspoilt Nature’ is in the context of

(1) Nature is not allowed to be a stumbling block in the human's progress
(2) Building cities with the system of organs like those of animals

(3) Free access to parks and open spaces

(4) Nature to retain its primitive condition

Options :

42558937748. 1

42558937749. 2

42558937750. 3
42558937751. 4

Question Number : 50 Question Id : 4255899702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The antonym of the word ‘frustrater’ used in the passage is
(1) Promoter

(2) Approver

(3) Admirer

(4) Downer

Options :

42558937752. 1

42558937753. 2

42558937754.3
42558937755. 4



Question Id : 4255899697 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
freferfiaa ey i sargdes ofe st wos & sww St

AR T geen =R 98 HYE U © foh 96t i Sied &1 e wEaen g9 i savdeRdl 6 ¢ |
Ig 7 =Sl § | U 2 Gehal €, Sad % garA & uferar, st st B Hyreamd 3ar A 3 fore freent
wif| wredl & etfafiaa o= weam 9 6 8 "ehdl €1 fhg tw 29 % fo gfaenfa iR wvea (i)
- o sriferm &1 T W wifoEd 6t sifa sies 8 siferd ® - afteed iR geewr & fou o eues
W WU ¢ 9 BH HAReH, FEd (fagmee), Heepla, ametaes sfysata o ffea o &5 =6
HELAFA & | THHR k9 WYL Geil 578, YRS Y o GIH Iqeed], UMl SN SARdl § Ha,
ot TR Tkl TR 37/ T G § HARSH v HeM, THRIET IR wey o fore S wam, amfent
1 o3ehl o foTT 2fe, Tev efe 3R Areer]e ST faemrel o1 SUciedt § € o YR & & | 7R w51 o1 o
I o WO e (o1 ST Mo ST 39 el off el a1 ST =y, o SR S WHel o1 areqd UHl = sl
T B =fey S 39 T H wAarl A o fog weergl g |

Sub questions

Question Number : 46 Question Id : 4255899698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el 1 AR siferes e Trash e = geRT € A

(1) TN =1 eTegea gfd & fau 371 309 9 § e 991 &l S1g
(2) @l FHae I UfEeT giau Iy &

(3) @ 9gd ¥ I @

(4) @& Faet IR AfF fER SR wHRSE % 9 suee g

Options :

42558937736. 1
42558937737.2
42558937738. 3
42558937739. 4

Question Number : 47 Question Id : 4255899699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : (

T T 1 GafeeE STge vt 1 @ el € 7
(1) TR a9 9ol

(2) THEIfsa wredi = sTerveRd

(3) eyl I : vgfae SR HirEr

(4) aferes e 9 fAfia feran =g

Options :

42558937740. 1
42558937741. 2
42558937742. 3
42558937743. 4

Question Number : 48 Question Id : 4255899700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T H YA e (giee) ' Wee § o sfvie €7

(1) =md
(2) =HEferd
(3) g

(4) el

Options :

42558937744. 1
42558937745. 2
42558937746.3
42558937747. 4

Question Number : 49 Question Id : 4255899701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ey § wgE ufters weEfa’ o stfima frefafea § 9 fras e # §2

(1) T4 & T H T &1 e o949 @0 et 76 8

(2) Wl o1 o 3= o @ fmn s St foR wifort 3w | S 2
(3) TaHl iR gel e 9% A e

(4) Wepld ZaM 9T sAfesmfees feafa = gfqemo

Options :

42558937748. 1
42558937749. 2
42558937750. 3
42558937751. 4

Question Number : 50 Question Id : 4255899702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el W ygEd s (W) ' o fadm s e ?

(1) Hax=®

(2) TR

(3) TIF

(4) VTHSF
Options :

42558937752. 1
42558937753. 2
42558937754.3
42558937755. 4

Punjabi
Section Id : 425589134
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 425589386
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 4255899703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

far 7% & ‘& @ Ulg € ier <f faar 7ier 372

ke qIdr =7 H&r

B AdidE ©F JHB!

Jug BY €T Her

ad
z

4. BUTT T HE
Options :
42558937756. 1
42558937757.2
42558937758. 3
42558937759. 4

Question Number : 51 Question Id : 4255899703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foH H& ¢ ‘B T8 Ul = #gr 2 faar Ater 37

ke 94T =7 He&r

B AagT=T ©F JHB!

JuT BY ©T Her

lad
¥

4, BUTT T HE
Options :
42558937756. 1
42558937757.2
42558937758. 3
42558937759. 4



Question Number : 52 Question Id : 4255899704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

N ale]

Afded fiy Temar 841 & da-Jae it &7 Ag 3 YEts qu farg Hiemr 37

Ls ygE-gget

7, To-ager

3. Udt-gg=t
4. sEtag=et
Options :

42558937760. 1
42558937761. 2
42558937762. 3
42558937763. 4

Question Number : 52 Question Id : 4255899704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=

Afded fiw e=amar g€t & Sa-ademit T /g 3 ydls qu farg Hienr 97

1 ygrE-ager

7, To-gger

3. Udt-oget
& 3E-ag=t
Options :

42558937760. 1
42558937761. 2
42558937762. 3
42558937763. 4

Question Number : 53 Question Id : 4255899705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘HdmT B3z At fagsT 38 Fdt &d 32
1e gE39 € ®HdIE 3 HIMi 8 3¢ THAY (3F) = a3 fIar Afer J
3 feg Bx-a13 € wifadt fRee/fary T, fArer afea Hdmr Jer 31
3. ufow fHATT He g8z e dH T J, Tt THAfant® feg Hays widl 397 J | feas
firfontt & a3 faor Afer J|
4,  Hdm Widt 3 gfent I w3 HdT © Haet nide I6 ST 996 @@ AT @dit
Options :
42558937764, 1
42558937765. 2

42558937766. 3
42558937767. 4




Question Number : 53 Question Id : 4255899705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Hrd™ Ba-d13 Hadl faa3T 35 /It &4 92

l. ¥23d ¢ &a9IE 3 HI M & 38 THAT (3x) &7 a3 fdar Afer I
7, feg Ba-ai3 <f wifadt free/fam &, farer afed wdm Jer I

3. Ufo® fHAT HE da T a1 T J, el fimfantt feg Hags widl 39 31 feas
iAot & &3 faar Ater J1

4. W widt 3 gfenT I »iF HdT © mEel »iEE 96 KT 9198 % AT @i

Options :

42558937764. 1

42558937765. 2

42558937766. 3
42558937767. 4

Question Number : 54 Question Id : 4255899706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘SWIT WE gIfEet (Culture and Society) UASH ©F &H <
1. 9HZ fe@MmiHd (Raymond Williams)
2. w323 FEME (Edward Said)

3. g% ¥793 (Roland Barthes)

4. 7997 . @979 (George J. Frazer)

Options :

42558937768. 1
42558937769. 2
42558937770. 3
42558937771. 4

Question Number : 54 Question Id : 4255899706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘SWIT WS AATfEST (Culture and Society) UASH ©F &4 J
1. 9Hz fe@MmiHa (Raymond Williams)
2. Mi3=Is AEM® (Edward Said)

3. 9% 9793 (Roland Barthes)

4. /99 H. €999 (George J. Frazer)
Options :
42558937768. 1
42558937769. 2
42558937770. 3
42558937771. 4



Question Number : 55 Question Id : 4255899707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

L S e} o

Urdt afe guet ot 83Ut gt fagsT feawy Adt &d1 92

. S

I ot 3 mret o fagHE

7, fafan 3 &< @7 feagHE
3. ferms 3 5=t o fagH=
4. Aooah 3 &<t €7 fagHE

Options :

42558937772. 1
42558937773. 2
42558937774. 3
42558937775. 4

Question Number : 55 Question Id : 4255899707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Lt S0 o} ™

Uadt ate gaet ot feB3ust Aadt fagsT feamy AdT adl 92

ot

L ot 3 mret @ fagHE

7, fafanr 3 &< @ feagHE
3. ferms 3 o=t = fagH=
& Aoga 3 &< =7 faar=
Options :

42558937772. 1
42558937773. 2
42558937774.3
42558937775. 4

Question Number : 56 Question Id : 4255899708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o B ] )

et feg ferseT f8a ot =7 9g-29s & Afg-g<at 87 AT 37

. =)
% Ef:)
3, =
4, 7i1e)
Options :

42558937776. 1
42558937777. 2
42558937778.3
42558937779. 4



Question Number : 56 Question Id : 4255899708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

non ~ 0o

UrrdT feg fersdt & a2t e 9g-29% [ Afd-F<HT &7 AT J7?

. <
%, EL:)
5. B
4, 7i1e)
Options :

42558937776. 1
42558937777. 2
42558937778.3
42558937779. 4

Question Number : 57 Question Id : 4255899709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T © BudE 29 fdagmit ya@n ararH1® de it 767

L. OaT UFT®l, &e-U39 Y8, T Y|

% Ad UST&! O&T ys&!, Bads yzrdh

3. ®E-U3IN yTEl, dof YTTE, HSt Oat YTt
4, B8udE Uz, aT-U3d UTT®!, AY9 YT&!

Options :

42558937780. 1
42558937781. 2
42558937782. 3
42558937783. 4

Question Number : 57 Question Id : 4255899709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

g & BudE 29 gt ya s ararH® demt 787

L. g1 UETsl, &e-U39 Y8, Td Y|

. Ad UST&!L O&T ya&!, Bads yzrsh

3. S-S yITE, dot yITEn, U3t ust yItEt
4, B8udE yzi@, aT-U3d UTT®, AY9 YT&

Options :

42558937780. 1
42558937781. 2
42558937782. 3
42558937783. 4




Question Number : 58 Question Id : 4255899710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e

‘B0 AgeT 27 ¥ & AT-8d9 33 fds SH-2HT nige’ feg GarfonT 7 AaEr J7

T 2
Zi 3
3 4
4. o
Options :

42558937784. 1
42558937785. 2
42558937786. 3
42558937787. 4

Question Number : 58 Question Id : 4255899710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘BT ATt €’ T 3 AT-8J9 313 fds SH-2uT nige’ feg Garfonr 7 Aaer 372

IE #

2. 3

. 4

4, .
Options :

42558937784. 1
42558937785. 2
42558937786.3
42558937787. 4

Question Number : 59 Question Id : 4255899711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HedT WS WEdT &7 g o

s THS W&HAd 575
g, B nidaT &%
3. Surw &%

4, FOH &%

Options :

42558937788. 1
42558937789. 2
42558937790. 3
42558937791. 4



Question Number : 59 Question Id : 4255899711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Agdl Wi wigdl €7 Fed d

1. WHHl YH#&o'd &TH

g, Buir wiEddT &%

5. e &%
4. TSH &%
Options :

42558937788. 1
42558937789. 2
42558937790. 3
42558937791. 4

Question Number : 60 Question Id : 4255899712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Lk Lol o

‘Tzt Hedt fagsT feasu AT &dt d7

L degH © foA™ &% e 7rE @@ ggt udh gt Idiar |

2. wife dF feg f$& B3’ vad 7&|
3 wite dig feu © @z’ a83T oo feu 76 w3 3Tt foees a el
4, FETg Tt ©f B3t fawes o9 feg T

Options :

42558937792. 1
42558937793. 2
42558937794. 3
42558937795. 4

Question Number : 60 Question Id : 4255899712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘fagt” Fadt fagsT feasu ATt &1 37
1 JegHT © forg &% faem 7 @t Iaf tut &t 35T |
2. wife " feg f3& Bt Tad J&|
3. wife dig feg © @z’ 83T Iar few I8 w3 IR fE®es I (<)

4, Jeta AT =f {53t fawes a9 feg J|
Options :
42558937792. 1
42558937793. 2
42558937794. 3
42558937795. 4




Question Number : 61 Question Id : 4255899713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

H&™ g JH3T »i3 827 g0 THY &1 Ude @ fan »ided & Hu UArdmis, toH feguy graar
s Ha-3=T fga3t 3 Ufas Hienm?

-

1.  H3 Ay Ad
2.  HidEd fAw &9

3. Jfagda AW gretmr

4. w3g AW

Options :

42558937796. 1
42558937797. 2
42558937798. 3
42558937799. 4

Question Number : 61 Question Id : 4255899713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

H&™ 8HF IHST »i3 T g0 TR EF Ude @ IR »idod 3 HU UAEmis, UoH fequy gear
w3 Ho-g=<! fga3t 3 Ufas Hifenm?

ES

L. A3 fAw 7y
2.  HiEEd fAy &9
. Jfagas i Fehr

4. w39 THw
Options :
42558937796. 1
42558937797. 2
42558937798. 3
42558937799. 4



Question Number : 62 Question Id : 4255899714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(2]

3A<3 AW fdi® & Afas <F fef3aAardt € H3<

faa™ fefgoma ufetut feg uatfent 32

tH;5

l.  Bese, feam, gy, feor

g, Bvg=, feam, dE, HI3=

3. feaw, quas, feor, mEt
4. JUSE, HBI, HISTE, IE
Options :

42558937800. 1
42558937801. 2
42558937802. 3
42558937803. 4

Question Number : 62 Question Id : 4255899714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
373 iy 918 3 Arfas ©F fefsorasT ¥ Hee 3 fagr fef3oma ufout feg uetent 37

1.  Bese, feamn, gu, feur

74 Bus<, feam, d8, HI3<

3. feamw, qu, feur, nEt

4. UEY, HBI, HI3T, T

Options :

42558937800. 1
42558937801. 2
42558937802. 3
42558937803. 4

Question Number : 63 Question Id : 4255899715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘“Uagt e’ & ua-fedt feim-nia © HY Fued dE 927
I ayd fAw WHz

7, 3T, &JH

5 3T, 59 F93T
4. 713w Ais®
Options :

42558937804. 1
42558937805. 2
42558937806. 3
42558937807. 4



Question Number : 63 Question Id : 4255899715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Ut Tam € un-fedt feim-nia o Hy fued dE 372
L. ayd fiw WHe

7, 3T, &9H

5. 3T. 5’9 I3
4, 713 fHw AiS®
Options :

42558937804. 1
42558937805. 2
42558937806. 3
42558937807. 4

Question Number : 64 Question Id : 4255899716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Urrdt Waledfact ufentar €8 1974 fe9 yaiias Wt us A9 €1 9967 ‘La Nausee” &7
‘FfgnE’ (a1 THTT) THISY nidts UareT feg wigee fars 1377

l.  HUsAs

2, JJ89& I&d

5 forar 13 fHu

4.  ufggHe fHw

Options :

42558937808. 1
42558937809. 2
42558937810. 3
42558937811. 4

Question Number : 64 Question Id : 4255899716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Urrdt galedfiet ufent®r @8 1974 feg yarias Wt us A9 €1 9967 ‘La Nausee’” &7
‘Ffgnie’ (3791 gHTT) THI®e witls Jare! feg nigee faHs 1377

T Haed 13

7. JJ8d96 J&d

% fomer s fru
4, RIGEGERLY
Options :

42558937808. 1
42558937809. 2
42558937810. 3
42558937811. 4



Question Number : 65 Question Id : 4255899717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ufad (T T set-gu d8 ag Aifoes & nuatenT J?

i Ha& Ufa®r, Ha&™ ITATT, HOo™ Uda<

2. HU® Ufg®r, Ho® gRTT, HO®' o8

3. Hos™ UfosT, Hae gar, Hasr Ut
4.  HU® TATT, HI® STHTT, HU& 86
Options :

42558937812. 1
42558937813.2
42558937814. 3
42558937815. 4

Question Number : 65 Question Id : 4255899717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

yfas (frdt gan) s=t-gu fdd a9 Arfoes & niusfenr 372

= HI® Ufg®T. Ho®™ ItAIT, Ho®r Ut
5 HU® Ufd&T, HU®™ THAT, HI& o8
3 HO® Ufa®, Ho® 287, Ha& Ud

4.  HI® EAT, HO® IIATT, HO® g8

Options :

42558937812. 1
42558937813. 2
42558937814.3
42558937815. 4

Question Number : 66 Question Id : 4255899718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jo et feg” faaar feamyu 7dt adt” 972

1 gar I8t - g=s niudt How Unst

7, TdT SBIH - MBI Ha® Ufae
3, I 7T - IS HIS oF

4 TaT THABT — e HI& 3T
Options :

42558937816. 1
42558937817. 2
42558937818.3
42558937819. 4



Question Number : 66 Question Id : 4255899718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Js st fag” fagaT feasyu 7dt &4t 72

L. I AT - g2& niud! Ha® Unt

7, TdT SBIH - WM& TN Ha® Ufae
g, I 7T - JTIIS HIS oF

4. T THIEBT — WdE HI® I
Options :

42558937816. 1
42558937817. 2
42558937818.3
42558937819. 4

Question Number : 67 Question Id : 4255899719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘edie 3 gdie gEl’ YASd € &ud J;
L I9%us THw g<t
7 ey iy gdt

3, Jode THw =t
& ST TAW g4
Options :

42558937820. 1
42558937821. 2
42558937822.3
42558937823. 4

Question Number : 67 Question Id : 4255899719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘ede I 24T IE YASH T & J;
1 IJegs THY 8=t

7 IHBo TR ga7

3, Jdoe i g<t

4, & fHY gd]

Options :

42558937820. 1

42558937821. 2

42558937822. 3
42558937823. 4




Question Number : 68 Question Id : 4255899720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ol

“ygrEiEe T H3BE HagHTE &dT, &7 JIF YaEiee] Jg & H3®Y aiHBfene der J7,
g6 fom wiegd T 97

1. gogur fly 29
2. B3 fAw 7Y
3. ni39 iy

4. fams fiu

Options :

42558937824. 1
42558937825.2
42558937826. 3
42558937827. 4

Question Number : 68 Question Id : 4255899720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“ grEieE T H3BE HOGHTE &dT, &7 7 YdSIee! J€ &8 H3%F aiHSfere der 37,
e fom ndga T 97

L. drogHr iy 29
2. 73 fiw 7y
3. W37 AW

4. fama fRw

Options :

42558937824. 1
42558937825. 2
42558937826. 3
42558937827. 4

Question Number : 69 Question Id : 4255899721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘Tur-fd39’ A3 QU &% HEU3 YASS-HAld I8 :

1 iz wirs3 AT, efonret €1 IRt ©Rst e g

g, 9N €@ vy, UET s, fige< H3dt ©
g, T Blat. WTagHT, ddr UdT ©7 Agg

4. fon & U3, 3ote =7 ufle, dH-uUH

Options :

42558937828. 1

42558937829. 2

42558937830. 3
42558937831. 4



Question Number : 69 Question Id : 4255899721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘TU-fE39’ A3 QU &% HEU3 YASI-HAld 6 |
1 iz wirs3 AT, efonret ©F SRt ©Ast T U

9. 9N @@ vy, T s, e fH3at ©

5. g St WTagAT, ddf Udt & Aed
4, foH @ U3, 3oie =7 ulg, dH-UH
Options :
42558937828. 1
42558937829. 2

42558937830. 3
42558937831. 4

Question Number : 70 Question Id : 4255899722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ydisie® € yge witlls 1947 37 ¥mie HA's (AW 9f93 J0el-ARTY € ugie-A3d & faud
feaau mdt 37

1. IH'feazT, nfegrse! ferel, aHr @941 € FAde, YUd|

2. TE9E ©F URSTdl, ©F FdI3T € 37267, UGdISHA B&T, aTHT £9d © Ha< |

3. WE9E, Yydi=l, Yudr, »Erds yge|

4. AHTHE! wEgETE-Udy, fERsdt, Heagd 3 o 294 € Ao, ydisieTe]

[Trelde, AFEgad diH3" & U33T|
Options :
42558937832, 1
42558937833.2
42558937834. 3
42558937835. 4



Question Number : 70 Question Id : 4255899722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ydisie® € yge witfls 1947 37 gmie g6 AW 993 Jael-ARTY ¥ ugie-A3d @ foud
feaau mdt 97

1. 9HifeasT, megrard! fgret, aHT 29d1 & Hale, Yudl|

2. FE9E T URSTdT, ©F FdI3T € 372&T, UGdISHS B®!, aTHT €dd & Ha< |

3. HE9E, YygiEl, Yuidr, »iEAds yae |

4. AHTHEE! wEgETE-UdY, fersdt, HeEgd 3 o T9d1 € Ao, YdisieTe]

ferelds, ATOad dH3T €f U337|

Options :

42558937832. 1
42558937833. 2
42558937834. 3
42558937835. 4

Question Number : 71 Question Id : 4255899723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AAe3 HY de® & nE [dd3 &es feg ea3wy gdt It udh aaeT s 1=t 37
. Ut

2. Tt

3.  YJ&HHT

4. HIS € nfar
Options :
42558937836. 1
42558937837. 2
42558937838. 3
42558937839. 4



Question Number : 71 Question Id : 4255899723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AARS3 HY de®% & nuE [dd3 &2 ey a3y gdl It udh aaeT s &=t 37

. uU&f
2. et
3. YJaHHT

4. HIS € nfar
Options :
42558937836. 1
42558937837. 2
42558937838. 3
42558937839. 4

Question Number : 72 Question Id : 4255899724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T9He fHW U1 g Ut sferud &t 3F g3t e areuare’ far & faar d 2

L]

. Uses od
g, A, Ut i

3 Tude fw yraar
4, 2. w9, fede

Options :

42558937840. 1
42558937841. 2
42558937842.3
42558937843. 4

Question Number : 72 Question Id : 4255899724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T9HG fHY U1 g “UreT sferus &mff 3T I3l & reuae’ far & faaT 7 7
1 Uses dd

2. wm. b ffw

3, e fw yrgar

4, 21, w9, feae

Options :

42558937840. 1
42558937841. 2
42558937842. 3
42558937843. 4




Question Number : 73 Question Id : 4255899725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 fafnft fod” fan folrarg & “AHT Ys” =7 foAT adt f&fm?

L. Jfed g9HIed
2 JHH

5. FEIET

4, WigHEWg
Options :

42558937844. 1
42558937845. 2
42558937846.3
42558937847. 4

Question Number : 73 Question Id : 4255899725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 fefnft fed” fan forag & “ART Ug” & foAT adl f&femrm?

1 Jfen gdyaged
2 JHH

3. TEIET

4. wifaHeeTg
Options :

42558937844. 1
42558937845. 2
42558937846.3
42558937847. 4

Question Number : 74 Question Id : 4255899726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 faftmrt feg” Taa9 3 €t g9ga = fausT feamy AdT aat T2

l. 5793 - &2d AU ©f €79

2. IH fHW - 9 & o o

3. g ydhe - dfentt & 29

4, I HAT® d¢ - <79 (@S ol
Options :
42558937848. 1
42558937849. 2
42558937850. 3
42558937851. 4



Question Number : 74 Question Id : 4255899726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 f@umrt feg” Taaa 3 €ret gger o fausr fea®y AdT aat T2

l. &893 - &<d H'J o 9
2. I fiw - o9 &< a7 off
3. Ulg HoHE - dfent f 9

4, I HITS ©E - T4 ASME AT
Options :
42558937848. 1
42558937849. 2
42558937850. 3
42558937851. 4

Question Number : 75 Question Id : 4255899727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
“fodt gaet &% 77 ¢9 Ui,

ﬂ.eju_@_]%g ﬂ-%-x;

feg dife-A3dt fagz fodAag et a5?

1. 29% AJ
2. ¥Hed
3. &fgF Hg

4. EdUT
Options :
42558937852. 1
42558937853.2
42558937854. 3
42558937855. 4



Question Number : 75 Question Id : 4255899727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“fost gae! &% 7 g9 Ui,
,":1 .Ejuéx__&g 51 .%”

g dfe-A34t faoz fodrag it 967

1. 29% HJd
2. ¥HEd
3. TfdH HJ

4. JEdH™d
Options :
42558937852. 1
42558937853. 2
42558937854. 3
42558937855. 4

Question Number : 76 Question Id : 4255899728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HT3d s o0 fqaght &at-rw3aret & faest adt 1=t 7t

. THaF i fFordt
3, RIGIR EREE]

T, ICIR R CEL

4, g3 3 Te
Options :
42558937856. 1
42558937857.2
42558937858. 3
42558937859. 4

Question Number : 76 Question Id : 4255899728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HT3d g @9 fdaght &ar-r3aet & faest adt =T 77ET?
e g v fHordt
2. fRo<t w3 niag

3, IR E N Gy
4, EUR e
Options :

42558937856. 1
42558937857. 2
42558937858. 3
42558937859. 4



Question Number : 77 Question Id : 4255899729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 feitmft feg” far o 8 gauel an & noa-THsT f&ar famr 37

L. J9gE UGG
g, Al 99 9fF dn

3.  d fooww an

4. dI9 7T I389d HI'S an
Options :
42558937860. 1
42558937861. 2
42558937862. 3
42558937863. 4

Question Number : 77 Question Id : 4255899729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 feftm™ feg” fam dF & qeure! ant & nrga-fasr faar famr 32

1 Jog & UG
7 Al 919 9fF dF
3. 9 fa9wE In

4, dI9 7T I389d HI'S an
Options :
42558937860 1
42558937861 2
42558937862. 3
42558937863 4

Question Number : 78 Question Id : 4255899730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J&RH & TA3 »3 fegg 20 & a3 &% 93 e g of &H €37 37

A,

1. 33 e (Physical Poetry)

2. HU &f< (Pure Poetry)

)

& 837 3f3a arfe (Meta Physical Poetry)

4. ?HEE'E;EQF &< (Platonic Poetry)

Options :

42558937864. 1
42558937865. 2
42558937866. 3
42558937867. 4



Question Number : 78 Question Id : 4255899730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JEHH & THZ w3 fegg daf € 23T &% gfes A1 § df & €37 92
1. 3f3a afe (Physical Poetry)

2. HU i< (Pure Poetry)

4 839 33 afe (Meta Physical Poetry)

4. HEE'E;:‘?} &< (Platonic Poetry)

Options :

42558937864. 1
42558937865. 2
42558937866. 3
42558937867. 4

Question Number : 79 Question Id : 4255899731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

nAHT WiaY o8 ae-FAW € Uge-A39 & Adl feasy fagar 32

[ ad L |

1. wEAds yfeast, guifex udy, tages<t Idt, can® Ha=dT|

2. fors 3 Hoeadit farat © Hde, Uig Ade © UeT J @08 a9a" 21 feraedt,

HO®ZET ®fagdT, Wgggadr A&l

3. WEETE! H®l, HIddT HaMHES™ § 98 @ 9576, ASE o YIe 3 ZaHS! Siar |

4, HERE-UWT Bfgdr, HIE-yO's a'e-RAY, A=Eiee, »ands yfeast|
Options :
42558937868. 1
42558937869, 2
42558937870. 3
42558937871. 4



Question Number : 79 Question Id : 4255899731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

NHNT WisY fegd e-FAT € Uge-A39" & Adl fea®y fagsT 37

[al

1. weEAgs yfedst, Ivffed udd, oaEges<t I8!, can® Ha=d'|

2. feres 3 Vueadt farat © Hae, Ud™ Hde € UeT & /8 adat €f feHewed,

HO&ZET &fgaT, Hgggaar A&l

3. TEOESE! H®I, Aldd] HaHE3™ & I8 T 9576, 73T o YFT 3 aHS! Siar |

4. HBTE-undh Sfaar, HIT-YO's a2-HAY, T3, niands yfeast

Options :

42558937868. 1
42558937869. 2
42558937870. 3
42558937871. 4

Question Number : 80 Question Id : 4255899732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fIH feee™s Midex & Ydisiee! J1ie Orgr & »iigied et afest € ulddl 7os i O’
forar 7

L. 37. AfSeT fHw
2. 3. AfSE9 fAw &g
3. 37, A9HA S THW
4, 37, Jl9gAa HW

Options :

42558937872. 1
42558937873.2
42558937874.3
42558937875. 4



Question Number : 80 Question Id : 4255899732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

N

for feees widda & yasled! afe urgr & wigfad UamEt afesr &F ufod 7u3 orfe gra

faar 7 H
L. 37. AfSed fHw

2. 3. Af¥e9 fAw &g

3. 3. aG9HAIS THY

4. 3. JidgHs (HW

Options :

42558937872. 1
42558937873.2
42558937874. 3
42558937875. 4

Question Number : 81 Question Id : 4255899733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jo ffimft fo5" g9 391 s0=d A & el &% Aa03 fqaa feasy AdT 3
i 17 971, 57 H®X 3 59 HaT

%, 19 TN, 59 HEe 3 57 ASA

5. 15 T7dl, 59 HE® 3 57 ASA

4. 17 971, 59 AI€ 3 59 A&
Options :
42558937876. 1
42558937877. 2
42558937878. 3
42558937879. 4

Question Number : 81 Question Id : 4255899733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 T8t fed” g9 391 g07ed A € el &% AE03 [daar feasy AdT J:

I 17 97T, 57 H®A 3 59 Ha©
i, 19 T, 59 HEe 3 57 ASA
3 15 971, 59 HE<€ 3 57 A8
4. 17 91, 59 HI< 3 59 A8
Options :

42558937876. 1
42558937877. 2
42558937878.3
42558937879. 4



Question Number : 82 Question Id : 4255899734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J¥T HY T®% & HigaH £ | 9078 |

wifeg 3 < gofe 3, I Ifir feg 111

AY fag Har 3121

xJ TG SS9 foHTaT,

H &dt 7z $ 131

Hd A& onfdT 9fds Budas aret faad a1 feg 972

1. 97a1 dIgFT
2. Il WITAT

3. fdt gmar

4, g1 &< gt
Options :
42558937880. 1
42558937881.2
42558937882. 3
42558937883. 4

Question Number : 82 Question Id : 4255899734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

99T HY U% & HfgaH £ | 90§

vifeg 3 T wafg 3 T, 3 3 fem 111

Ae fag Har 3121

JJ TG =19 foHTa,

H &dl /g 3 131

g IA6 oniaT 993 Sudas et faas g feg 37

1. 9var ai@sT
2. T WTAT

3. TRt gmar

4. g1 g% argdt
Options :
42558937880. 1
42558937881, 2
42558937882. 3
42558937883, 4




Question Number : 83 Question Id : 4255899735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘Tams T3S NS FAS IS B IHTT FET JIeTH Eft fgastt @at '
Zlam/ugHTgE HianT Her 37

L. ufa®t 3 famrg=t @9
2. oA 3 famiast @9

3. AT 3 3t 7T
4. ufg®t 3 st =9
Options :

42558937884. 1
42558937885. 2
42558937886. 3
42558937887. 4

Question Number : 83 Question Id : 4255899735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘famrs I3aEs NiE Fd3 ISERSI § JHITT FTET JIETH Eft fIaFet @t e
ZlaruaHtgg Hfenm Hier 37

. Ufast 3 famrast @9
7. TAS 3 famiaet =g

3. Uaet 3 &<t @9
4. ufgd@t 3 Itadt 29
Options :

42558937884. 1
42558937885. 2
42558937886. 3
42558937887. 4

Question Number : 84 Question Id : 4255899736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Urret © y=fes ea-ydu”’ yrsd @ &ud O

T oHd fHW oA

2, fipra T

3. dfeed fRw fefonraet
4, UaH THy

Options :

42558937888. 1
42558937889. 2
42558937890. 3
42558937891. 4



Question Number : 84 Question Id : 4255899736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“UrrgT € y=ifes 8a-ydu’ YRS =7 Sud J:

T oFd fHu olFAd

£, fmra frw

3. ofeed fHw fefoniae!
4, O Hw

Options :

42558937888. 1
42558937889. 2
42558937890. 3
42558937891. 4

Question Number : 85 Question Id : 4255899737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1. fumrg fHw nigAa ux <1 fan fedt § gdrere! feut 2F faar Afer 2

L. gdeew! fedl
2. ylgagew! fedl
5 FAdae=r fedt
4, Il fedr

Options :

42558937892. 1
42558937893. 2
42558937894. 3
42558937895. 4

Question Number : 85 Question Id : 4255899737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1. fumrg fHw nigATe ue <1 fan fedt § gopere! feut 2F faar Afer 2
L. gde=w! fedl

ol

2. yigage! fedl

5. FAogee! fear
4, IJeee fedr
Options :

42558937892. 1
42558937893. 2
42558937894. 3
42558937895. 4



Question Number : 86 Question Id : 4255899738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IBEH T TA3IG o'k o Unmgt feg ufgdl @9 wigee fams J1377

- wrEt, mY. Ber
% g96 THY

3. gesd g AW
4, JIg9s THY
Options :

42558937896. 1
42558937897. 2
42558937898. 3
42558937899. 4

Question Number : 86 Question Id : 4255899738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IHBTH © FASH e ©F Ung! [<g Ufd®l @9 niaee fais 1377

l.  wiEl HL. aer

%, o9& A

3. T&atg fAW
4 Jddde AW
Options :

42558937896. 1
42558937897. 2
42558937898. 3
42558937899. 4

Question Number : 87 Question Id : 4255899739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jo f&fint fag* faast ae-goa /ST 2 I feg Uer 9t nivs &fag st feut »i 83t ad
aret?

L. Hag ©f ®3 (3T Ty 98)

¥, AdY3 €7 3% (Jdude fHu )

3. AeAT (A3 fAw Ay
4. fedt (AegwdEig)
Options :

42558937900. 1
42558937901. 2
42558937902. 3
42558937903. 4



Question Number : 87 Question Id : 4255899739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jo f&fimt fag” faast ae-gua 7St © I feg Uer 9t nivs &fog &t et »iE 83t adt
aretT?

i a3 ©F 83 ( 3T TAw 9a8)
7, AJYS € g% (Jd99s AW )

[ B

3. AvAT (3 fAw Ay

4, arfedr (A=dwdld)
Options :
42558937900. 1
42558937901. 2
42558937902. 3
42558937903. 4

Question Number : 88 Question Id : 4255899740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘fEHUaz e fegrs nis Uamdt 39 wiF 81829’ (Impact of Ibsen on Punjabi Drama and
Theatre) 7-Yg0 €7 93T I

l.  HIHZ HW Aef

2. J999% AW
7. &3 dradit
4. SISECEREL
Options :

42558937904. 1
42558937905. 2
42558937906. 3
42558937907. 4



Question Number : 88 Question Id : 4255899740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘ez nire fears vis Uardt 590 wis #1829’ (Impact of Ibsen on Punjabi Drama and
Theatre) H9-Y¥0 € J93T o

l.  HIHZ HW Aol

2. TJITIE TR
3. T%e3 gradit
4, SISEREREL
Options :

42558937904. 1
42558937905. 2
42558937906. 3
42558937907. 4

Question Number : 89 Question Id : 4255899741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 fefunt feg fagsT feamy JaarHT &yt 8% Hafus &5a1 97
i Adte TuH, W&t oHe, faour Aag
g, THT, Ml TTE, HIEH

3. WidHEWd, eI, HOHE gHH

4, JHE, HUHT g4H, J91H 951
Options :
42558937908. 1
42558937909. 2
42558937910. 3
42558937911. 4

Question Number : 89 Question Id : 4255899741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J& fefunt feg fagsT feasy daaHT &ud 8% ASfus &d1 97
e Adle TyH, W& oHle, fagur A4
7. IHT, MEl I, HoE®

5. WfgHeWd, IeIdg, HOHE IHH
4, JHY, HOHT 9HH, J9H 951
Options :

42558937908. 1
42558937909. 2
42558937910. 3
42558937911. 4



Question Number : 90 Question Id : 4255899742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

forr UrAmET HEt «<t & ufgdt @9 @l Jrfe-gy & yuidl 1377

1.  wi®@hJed
2. HIIRG
3. B HW

4.  HBIE Y
Options :

42558937912. 1
42558937913.2
42558937914. 3
42558937915. 4

Question Number : 90 Question Id : 4255899742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

forr YAt AET =1 & Ufas §19 T ATie-gu & YGdl J1377?

de S Jeg
g, J IA6
3. €8 HWO

4,  HBIG EY

Options :

42558937912. 1
42558937913. 2
42558937914.3
42558937915. 4



Question Number : 91 Question Id : 4255899743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HIET HYETE »agHe Aad 2t f36 gt J8:

A.  NETTT

B. wfgdd

. H39

D. nEdd

T fea®y & 92 a9
L. A B, C

2 B.C.D

3. A C,D

4. A.B,D

Options :

42558937916. 1
42558937917. 2
42558937918.3
42558937919. 4

Question Number : 91 Question Id : 4255899743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HIHT HyETE »iaHd Aad 2t 36 gt J8:

A.  nHEHTTT

B. wfgdd

H39

D. nEdd

T fea®y & 92 a9
L. A B, C

2 B.C.D

3. A C,D

4. A.B,D

Options :

42558937916. 1
42558937917. 2
42558937918.3
42558937919. 4



Question Number : 92 Question Id : 4255899744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

) il

ATa3 fefamiat 384T & asu niftmis & (g3 29drt feg fenm 37

A. (89313 femsns
B. IJ%5 [<ABHE
C. I3 feaens
D. EifHa fer@me
AdT [ea®y F 92 a9 ¢
i A B

2 A.C.D

3 B,C,D

4. A, B,D

Options :

42558937920. 1
42558937921. 2
42558937922.3
42558937923. 4

Question Number : 92 Question Id : 4255899744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

) B

ATa3 fefamiat 384T & asu niftmis & a3 29drt feg fenm 47

A. (859313 fersns
B. IJ%6 [TA®HE
C. I3 fenens
D. EifHa fer@me
AdT [ea®y F 92 a9 ¢
i A B

2 A.C.D

3 B,C,D

4. A, B,D

Options :

42558937920. 1
42558937921. 2
42558937922.3
42558937923. 4



Question Number : 93 Question Id : 4255899745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
J&=3 THW nigATg afedT RUETE & 3793 fed STeH ade 27 Hel Ja?

A ™ Tog-8T-T15
B. nfg feATS

C fenz &g

D.  HHEH Hi®B!
AT feasy & 92 a9
1. C ™3 D

7 B m3 C

3 An3 D

4, B ni=E D

Options :

42558937924. 1
42558937925.2
42558937926. 3
42558937927. 4

Question Number : 93 Question Id : 4255899745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
J&=3 THW nigATg afedT RUETE & 3793 fed STeH ade 27 Hel Ja?

A.  THmoE-8T-T6
B. nfg feATA

c. fonms 8®

D.  HeHEH HI&a!
FdT feamu &F 9= a9
L. C™M3 D

7, B3 C

3 AwI D

4, B ni=E D

Options :

42558937924. 1
42558937925. 2
42558937926. 3
42558937927. 4



Question Number : 94 Question Id : 4255899746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fentis oie © fooz feamu Adt 767

A. fogs

B. fHeT

C. HIwT

D. g8

Fdt feamy & 92 a9
e An3 B

3. B n3 D

o A3 D

4. An3 C
Options :

42558937928. 1
42558937929. 2
42558937930. 3
42558937931. 4

Question Number : 94 Question Id : 4255899746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fentis oie © fooz feamu Adt 767

A. fogs

B. fHeT

C. HIe

D. g&¢

Adt feewu €1 92 a9
i An3 B

3. B »3 D

o A3 D

4. An3 C
Options :

42558937928. 1
42558937929. 2
42558937930. 3
42558937931. 4



Question Number : 95 Question Id : 4255899747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 &Y [Tasu’ fed” Adl feasy € 92 &
A. &= -], [€]

B.  wiwuyz - [3] 4]

C. wW'ye-[][&]

D. &% 9fd3 - [F], [€]

Adt feamy € 92 &9
e A= C

2. A3 D

3., Cn3z D

4, B »3 D
Options :

42558937932. 1
42558937933. 2
42558937934.3
42558937935. 4

Question Number : 95 Question Id : 4255899747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
J6 fey feamut feg” FdT fed®y =F 9 o«
A. BT -], [E]

B. w&JyE - [3], 4]
C. wWiTyez-[d][&]
D. &% dfd3 - [9], [€]
FdT feasy & g€ o9

L. A3 C

2 An3 D

3. Cw3 D

4, B n= D
Options :
42558937932. 1
42558937933. 2

42558937934.3
42558937935. 4



Question Number : 96 Question Id : 4255899748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

37, fdfdieg AW Idt fmiest 9 © fu=x I8
A. Tooe fAw et

B. Tud= W ygdr

c. dfifeg a9

D. Fwudlg a9

AT feamy ©F 92 a9
L. B,D

2, A, D

3. A C

4, Gl

Options :

42558937936. 1
42558937937. 2
42558937938.3
42558937939. 4

Question Number : 96 Question Id : 4255899748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

37, Afdieg fAw It fmesT a8 © Fued I8
A. J99% Hw g=t
B. AHee AW yggr

c. dfieg a9

D. Tudl a9

AT fea®y & ¥€ a9
- B,D

¥ D

% A C

4, C,D

Options :

42558937936. 1
42558937937. 2
42558937938. 3
42558937939. 4



Question Number : 97 Question Id : 4255899749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

NIBHATS € WERTsS Yfea3T € yge nitlis 99 3 HaY ¢ Hies ©f 6098a3T & UH Jd6 %
seat @7 foagT feasy It 97

A, fomfant = o SR &
B. Us &S

C. WHIZ TH

D. A% Es #3T T va
FdT feasy ©f 92 a9

1. A, B

2 B,C

3 B.D

4, A, C

Options :

42558937940. 1
42558937941. 2
42558937942. 3
42558937943. 4



Question Number : 97 Question Id : 4255899749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

NIBHATS € WERTsS Yfea3T € yge nitlis 99 3 HaY ¢ Hies ©f 6098a3T & UH Jd6 %
seat @7 foagT feasy It 97

A. g\t e of 9uiE &

B. Uy € 83

C. WEEZIH

D. 7Y ¥& #3" T& Ha
AT fea®y €F 9¢ a9

Iy A,B

2 B,C

3. B,D

4., A,C

Options :

42558937940. 1
42558937941. 2
42558937942.3
42558937943. 4

Question Number : 98 Question Id : 4255899750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

0onfy (SR L3 PN b

AedElg ©f Uy ‘feo a1 o< @d odidl’ Hydr 38t er Adt fedady J

A. fer feg Ud fea u3dt a'ed I |
B. fer feg 99 foq U39t a7ed 75 |

C. for feu fra € Uusst a72a J1
i fer feg A € U39t &ea 961

AT feamy &f 92 a9
s A,B

3 A C

5 B,D

4, Ol

Options :

42558937944. 1
42558937945. 2
42558937946. 3
42558937947. 4



Question Number : 98 Question Id : 4255899750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

[ 1 W A T L )

ATdEIg ©f yAsy ‘f8o a1 ae @d odidl’ Hedr 387 oF Adt fedasy T

A. fer feg Ud fea usdt &a'ed Ja|
B. fer feg 99 fod U39t a'ed & |

C. for feu fra © usst a7ea J1
Fi: fer feg J¥a © U3dt &ea 98|

AT feamy ©F 92 a9
L. A, B

2, A, C

% B,D

4, Gl

Options :

42558937944. 1
42558937945. 2
42558937946.3
42558937947. 4

Question Number : 99 Question Id : 4255899751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3. 3709 THW niaAT J9& fe0s © Uy 3 niyE © fdos © <947 988 I67
A. feJdf Aedst € AUd &% RAiU3 hiyE
B. d3® 303 U T8 niuE

C. Hfes Jud T8 e

T AHZ= Heds' © AWdl &% AOU3 vidE

FdT feemy <F 92 a9
- A,B

7. A,D

5 B.D

4, OB

Options :

42558937948. 1
42558937949. 2
42558937950. 3
42558937951. 4



Question Number : 99 Question Id : 4255899751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3T, &4 AW »iaAT J9a feus & Uy 3 niyet © foog © <d9d1 582 967

{ s e ]

A. fedUl Fedsh € AUdl &% A0S MyUE

B. %% 9fgz qux <@ wiuE

C. Hfc® qud =18 niHTE

T AHT<t Heds' © AWdl &% AOUs3 hidE

FdT feamy ©f 92 a9
L. A,B

J. KD

3. B,D

4, ol

Options :

42558937948. 1
42558937949. 2
42558937950. 3
42558937951. 4



Question Number : 100 Question Id : 4255899752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3T, TAfeed fAW WaErd Afsnoad Eaa®d © faag 36 nid 762

A. AlSWET ¥ fedTAN®S Ulaedss € g91T8 AHTd Hadl HWIH Jdl H& df

&=t Afenigg frgaa

B. FEUS &¢ Afgnad €7 AYTs JeSHA guizde

C. HaH! FHH €hort gfenret &31, Hgeae’ ni3 AHIE= nigg® AHY AlgnErdd Yau

€1 frgwer
D. Afgngg ¥ fearAysd ufdedsa
AT feasu € 97 &9 ¢
ks B,C.,D
2. A, B,C
3. A,B,D
4. A,C.D
Options :

42558937952. 1
42558937953. 2
42558937954. 3
42558937955. 4



Question Number : 100 Question Id : 4255899752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3T, TAfeed fAW WaErd Afsnoad Eaa®d © faag 36 nid 762

A. AlSWET ¥ fedTAN®S Ulaedss € g91T8 AHTd Hadl HWIH Jdl H& df

&=t Afenigg frgaa

B. FEUS &¢ Afgnad €7 AYTs JeSHA guizde

C. HaH! FHH €hort gfenret &31, Hgeae’ ni3 AHIE= nigg® AHY AlgnErdd Yau

€1 frgwer
D. Afgngg ¥ fearAysd ufdedsa
AT feasu € 97 &9 ¢
ks B,C.,D
2. A, B,C
3. A,B,D
4. A,C.D
Options :

42558937952. 1
42558937953. 2
42558937954. 3
42558937955. 4



Question Number : 101 Question Id : 4255899753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SIHE MB T 5H I6;

A. IET

B. &

C. g

D. ddlEs

Adt fea®y & 9= a9
L An3 C

. An= B
Bw3 D
4. AnWI D

Options :

42558937956. 1
42558937957. 2
42558937958. 3
42558937959. 4

13
B

Question Number : 101 Question Id : 4255899753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SIHE MB T 5H I6;

A.  IET

B. %

C. Ugm

D. ddlEs

Adt fea®y & 9= a9
L An3 C

. An= B

-] Bnw3 D
4. A3 D
Options :

42558937956. 1
42558937957. 2
42558937958. 3
42558937959. 4



Question Number : 102 Question Id : 4255899754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

falia)

AT 13 Y3d B aifed™l € Uge-dg Is:

A. TEf3TAa 9387, nigfed Wdl Heea 3 HaHuE € SU niforAt € &fesT

B. nEE-Hon T SETST »i3 niEEHYST OF JfesT

C. IHA-YGT 3 Y=t © gns = drifex arfe-yzra

D. AH®! fEf3orAa v2ef, Undg! el © AE iR Adad’ »E Hadt fag 3 fege d
Jd HAH © ITHC I € UGl 2 Jfes

FdT fea®y & 9 &9

L An=E C

2. A w3 B

3. A3 D

4. B3 D

Options :

42558937960. 1
42558937961. 2
42558937962. 3
42558937963. 4



Question Number : 102 Question Id : 4255899754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

falia)

AT 13 Y3d B aifed™l € Uge-dg Is:

A. TEf3TAa 9387, nigfed Wdl Heea 3 HaHuE € SU niforAt € &fesT

B. nEE-Hon T SETST »i3 niEEHYST OF JfesT

C. IHA-YGT 3 Y=t © gns = drifex arfe-yzra

D. AHa®! fEf3orAda v2ef, Undg! ®ael © Ae iR Adad’ w2 Hadt fag 3 fege d
JJ HAH © ITHCS I € UGl g e

FdT feasy ©F 92 &9 ¢

Ly A3 C

2. A W3 B

3. AnI D

4. B3 D

Options :

42558937960. 1
42558937961. 2
42558937962. 3
42558937963. 4



Question Number : 103 Question Id : 4255899755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

839-nufeasT ASdt fags feasy mat I6:
A. Teo A9 @ =1 fex A feafoar, fegeu 7 wifsH &dt Al g-ugst AUy

w3 Ufgedsart® Feterg adat o |

(il

[¥]

935t €7 IJIAIS TII8 J |

Ll

g fefsar-fHfaar

58 feg fea wifadt f83s ferdt 3 nifgwr-aet O, Aozt far & famrs, 399, fAus

&

At nifgnid & Afeg, FETet A AL adf Haet
D. &g gafua afEal @ Fewad Uut ©f fentfont a9s 2% Ifos J|
FdT fea®y ©f 92 o9

Le An3 D
2. An3 B
o A3 C
4, B »= D
Options :

42558937964. 1
42558937965. 2
42558937966. 3
42558937967. 4



Question Number : 103 Question Id : 4255899755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

839-nufeasT ASdt fags feasy mat I6:
A. Teo A9 @ =1 fex A feafoar, fegeu 7 wifsH &dt Al g-ugst AUy

w3 Ufgedsart® Feterg adat o |

(il

[¥]

935t €7 IJIAIS TII8 J |

Ll

g fefsar-fHfaar

58 feg fea wifadt f83s ferdt 3 nifgwr-aet O, Aozt far & famrs, 399, fAus

&

At nifgnid & Afeg, FETet A AL adf Haet
D. &g gafua afEal @ Fewad Uut ©f fentfont a9s 2% Ifos J|
FdT fea®y ©f 92 o9

Le An3 D
2. An3 B
o A3 C
4, B »= D
Options :

42558937964. 1
42558937965. 2
42558937966. 3
42558937967. 4



Question Number : 104 Question Id : 4255899756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
37, THEIUS THY 9973 WiaHT I3 O9iHd, ATOad ©18d ©f dewdl a2 WH3T
UlEH 2 Fife-Hallg a3 787

A.  WifH3 ®fagt

B. I 39w ot fdv =
C. a3 fagst

D. 3J5U3 g%

T fea®y € 92 a9 |

L. B n3 C

% A w3 B

3. AnWI D

4, A3 C

Options :

42558937968. 1
42558937969. 2
42558937970. 3
42558937971. 4

Question Number : 104 Question Id : 4255899756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

31, TH=9U® THY 8973 WiaHY J27E31 O9iHd, AETdd ©1Ed = dedl a8 »H3T
URH & arfe-Halg fads 787
A.  nifyz Bfgat

B. I 3=T9y ot foT =
C. o3 faga

D. 3I5U3 g%

AT feasy ©F 9& a9

f B »i= C

<3 A w3 B

3. An3 D

4, An3 C

Options :

42558937968. 1
42558937969. 2
42558937970. 3
42558937971. 4



Question Number : 105 Question Id : 4255899757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3. AT fHY & niufsd €9 €F Ut 293d feg 0e © faod wut & fereldiad de
ugfanr 972

A.  Toniar

B. f<3ger

C. &gar

D. fedugmw

FdT feasy &f 92 a9
L. A,B,C

2. A.B,D

3. B.C.D

4, AC.D

Options :

42558937972. 1
42558937973.2
42558937974. 3
42558937975. 4



Question Number : 105 Question Id : 4255899757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3. AT fHY & niufsd €9 €F Ut 293d feg 0e © faod wut & fereldiad de
ugfanr 972

A.  Toniar

B. f<3ger

C. &gar

D. fedugmw

FdT feasy &f 92 a9
L. A,B,C

2. A.B,D

3. B.C.D

4, AC.D

Options :

42558937972. 1
42558937973.2
42558937974. 3
42558937975. 4



Question Number : 106 Question Id : 4255899758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘THIeHT Hedt faog feamy 7at 96?
A. fegue feo €77 w3 g feg
Y36 HeHAH 99 99 aad < AT € Ulgst 8eAT AR fed dirfe Hintt s

&% Jet & fan few g aea 22 #t & 16 © fea yms € €39 feg ‘TmaaH’

& T guar = GudeE &3

c. fem ¢ gy dfde fRw =t a® Hefus &3 #fer I w3 feo yefes & o Afoas

© feaet Tt © et &% df 75 |

D. for fou I8 Hadl 3 9%z T8 wiA® I36 3 U3 Afdwian' £ dgat &
HAGHTST Ifa3 & mau=e fog fanrfanr famr T

AT feasy &f 9= a9

Lo B ni= C

%, B»I D

3, An3 D

4, An3 C
Options :
42558937976. 1
42558937977. 2
42558937978. 3
42558937979. 4



Question Number : 106 Question Id : 4255899758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘THIeHT Hedt faog feamy 7at 96?
A. fegue feo €77 w3 g feg
Y36 HeHAH 99 99 aad < AT € Ulgst 8eAT AR fed dirfe Hintt s

&% Jet & fan few g aea 22 #t & 16 © fea yms € €39 feg ‘TmaaH’

& T guar = GudeE &3

c. fem ¢ gy dfde fRw =t a® Hefus &3 #fer I w3 feo yefes & o Afoas

© feaet Tt © et &% df 75 |

D. for fou I8 Hadl 3 9%z T8 wiA® I36 3 U3 Afdwian' £ dgat &
HAGHTST Ifa3 & mau=e fog fanrfanr famr T

AT feasy &f 9= a9

Lo B ni= C

%, B»I D

3, An3 D

4, An3 C
Options :
42558937976. 1
42558937977. 2
42558937978. 3
42558937979. 4



Question Number : 107 Question Id : 4255899759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e RN 8.

ydr=iee! afe-gar Rad! foos fead®d AdT 787

A. FEJfed TETE € g »idls Ydisieret arar 2 9f93d HY gu feg gHifed

J& WEHA AT

B. & gu-feurs, Sedg-ydr € wiggy &<l fHa=dl »i3 nigfed g<-80 3
feniaz ada BT Hafefamad 3 nBgaSHE Hagas e et ngfad fedmnt
& niua8E 3 ¥w fe3)

C.  AHHSE! FHH € FEUST T FHHS WMedH o YdSiee! Odr & HY Udar

AT, fog3T faAs 294 feg niue Jat €7 93837 nitls 3T € 936 683

USRI

D. ydEiedt afe3r 33a#&s wagg ¢ feeq & g2 gist & asufsa weae 3°
Ugsr =T A

AT feamy €F 52 a9

1. A,B,C

2, A.B,D

B A, C.D

4. B,C,D

Options :

42558937980. 1
42558937981. 2
42558937982. 3
42558937983. 4



Question Number : 107 Question Id : 4255899759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e RN 8.

ydr=iee! afe-gar Rad! foos fead®d AdT 787

A. FEJfed TETE € g »idls Ydisieret arar 2 9f93d HY gu feg gHifed

J& WEHA AT

B. & gu-feurs, Sedg-ydr € wiggy &<l fHa=dl »i3 nigfed g<-80 3
feniaz ada BT Hafefamad 3 nBgaSHE Hagas e et ngfad fedmnt
& niua8E 3 ¥w fe3)

C.  AHHSE! FHH € FEUST T FHHS WMedH o YdSiee! Odr & HY Udar

AT, fog3T faAs 294 feg niue Jat €7 93837 nitls 3T € 936 683

USRI

D. ydEiedt afe3r 33a#&s wagg ¢ feeq & g2 gist & asufsa weae 3°
Ugsr =T A

AT feamy €F 52 a9

1. A,B,C

2, A.B,D

B A, C.D

4. B,C,D

Options :

42558937980. 1
42558937981. 2
42558937982. 3
42558937983. 4



Question Number : 108 Question Id : 4255899760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ag diftie fHw =t gfgs ‘g8t €F @9 Hudr Adt feasu € g2 a9

g3 ©f =9 it 60 uBai I& |

I8t €7 @9 €f sutel fHfagAa I 2 forer 90 Hiads UdE &% J1

feret ufawt uBsT Ha® Faa J A feg & a1 Afaa & fRHfant famr I

fere g grd1 feg It & ydd & st 2 Aby yrfuare! fadmt fisdntt 7a |
FdT feasy €f 92 a9

2 B

1. A,C
2 B.C
3. e D
4. A, D
Options :

42558937984. 1
42558937985. 2
42558937986. 3
42558937987. 4

Question Number : 108 Question Id : 4255899760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gy diftie fHw T gfgs ‘J8T &F @9 Hydr Adt feamy €t g2 a0

g3 7f @d ot 60 uBSnit & |

I8t ©f @9 ©f swel fHfagAa I 2 ferer 790 Hiads UdE &% J

feret ufadt uBST Haw Hea 7 AR fev & a9 Arfowrs & fRHfanT famrm )

fere g gra1 feg Ifanf & yHar € AHuUsTt 3 ABy urfuare! fadmt fhadint 76 |
AT fea®y €F 9¢ a9

g & B P

I A,C
2. B, C
5 C.D
4. A, D
Options :

42558937984. 1
42558937985. 2
42558937986. 3
42558937987. 4



Question Number : 109 Question Id : 4255899761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I HHT WEATT difE-yuinas © (a3 feasy Adt 67
A. UIH, wdg, aH, By
B. & Uy niHT dli93t yus J9a |

C. famms yust, 77, B9

D. uUad g [grel 3 wide yusT

FdT feasy €f 92 a9
Tia A C

2. B, C

3. C. D

4, B.D

Options :

42558937988. 1
42558937989. 2
42558937990. 3
42558937991. 4

Question Number : 109 Question Id : 4255899761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TH HYT WEHAT Jdie-Yudas © (da3 [easd AdT 767
A. UGN, »idE, oI, Py

B. = UY niHT 93T yu3 J9& |

4 famms ynu3t, 7, 33|

D. uad & fget 3 wiae yusT

AT fea®y €F 9¢ a9
Tis XL

2. B,C

3. C. T

4. B,D

Options :

42558937988. 1
42558937989. 2
42558937990. 3
42558937991. 4



Question Number : 110 Question Id : 4255899762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WHAET T &2ts WEgaT USTer © Uiy miead I6:
A. IBME g9 (Cleanth Brooks)

B. WS 22 (Allen Tate)

e fe@mm o, ferre (William K. Wimsatt)

1 gfgH IHEEAsT (Boris Tomaszewski)

T fea®y € 92 a9 |

A B, D

A, B.C

A,C,D

4. B.C.D

Options :

42558937992. 1
42558937993. 2
42558937994. 3
42558937995. 4

'J\;M"_l

Question Number : 110 Question Id : 4255899762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WIS TF Bie Miega UST&T © UHY Wddd 76"

A. a®%MmE 89aA (Cleanth Brooks)

B. W&s 22 (Allen Tate)

e fe®hon o, ferre (William K. Wimsatt)
B gf9n SHTHERAT (Boris Tomaszewski)
FdT feawy &f 92 a9

A,B,D

A,B,C

A,C,D

4. B,C.,D

Options :

42558937992. 1
42558937993. 2
42558937994. 3
42558937995. 4

T S



Question Number : 111 Question Id : 4255899763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

& AW Usles & ‘Uddt ggret @ f2f3oH’ yAsa feg UAtdt aqoret €1 feary-gur &
fgag S niaAa YAss o137

A.  @EETE megeeE! UAE! gae]
B.  <A3NHI gEgEETEl YAET JJTE]
(8 E39-tggaet Uardt qaral

D. wiedAe<! gEgEe ! Undr Jara]
AdT fea®y & 9€ a9

Lia D,A,B,C

2. D,B,A,C
3. D,C,A,B

4. A,B,C,D
Options :
42558937996. 1
42558937997.2
42558937998. 3
42558937999. 4

Question Number : 111 Question Id : 4255899763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gwe AW Usle® & ‘Udrdt darel @ fEf3uH’ yAsy feg UAmdt duret €1 fedrH-gur &
XT3 IH WigHT YA33 13T 3

A.  GETE mEwEer Ung! JarE]
B.  TA3WHI gEgEEEr UATET JJTE]
C. G39-wgomet darst aoral

D. wfedRel gEgEe ! Undr Jara]
AdT feasy & g2 a9

1 D, A, B, C

2. D.B. A, C

e % D, C; A, B
4. A,B,C,D
Options :

42558937996. 1
42558937997 2
42558937998. 3
42558937999. 4



Question Number : 112 Question Id : 4255899764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fa) fal Ex

J6 T8 ainfl & 7eH-A'® €1 B HAST € AT f[eawy feg ugre:

A. e ag gse=<t
B. 3T fHW ITHS
C. 7A=3 fAw a4t
D. F. A HE

AdT fea®y € 92 a9

I D,A,B,C
2. C,B.D, A
i D,C,A,B

4. A,B,C,D
Options :
42558938000. 1
42558938001. 2
42558938002. 3
42558938003. 4

Question Number : 112 Question Id : 4255899764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fa) fa] E

J6 &8 It & FEH-A® eF I%-ATHAST ¥ Fat feady few ugTe:

A. TS aHg ge®=t
B. 39 AW ITHS

C. #Ar<3 Hw &dT

D. A A HHE

AJT feasy €F g€ ad .
L. D,A, B, C

2 C,B,D, A
3 D.C,A.B

4. A,B,C,D
Options :
42558938000. 1
42558938001. 2
42558938002. 3
42558938003. 4



Question Number : 113 Question Id : 4255899765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 fednt UASaT & yaHa-2] wagHd dis-gHaST € AT feasy feg ugTe:

A.  FUT ES (MEITT AlSNEN)

B. 3y 3 JIGHH 3 (fadns fHw &9)
C. dIMT wd T 3FH (AJ=ST 8M)

D. 3d¢ 7<e U9 (HAS)

AT feamy ©f 92 a9

- DA B C

% EB,DA

5 A,D,C, B

4. A,B,C,D
Options :
42558938004. 1
42558938005. 2
42558938006. 3
42558938007. 4

Question Number : 113 Question Id : 4255899765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 f@dntt URSa & ydHa-29 wiaHd da-JHaST € AT feawy feg ugTe:
A.  JUT BEH (ME3T HiSnERT)

B.  TEU 3 JIGHIH 3 (fadrs fAW 59)
C. dfe wd & 3®H (Ad=STd 8)

D. 3d¢ <& Ud (HAS)

AT fea®y & g€ a9

- DA B.C

7, C,B.D,A

3. ADED

4. A,B,C,D
Options :
42558938004. 1
42558938005. 2
42558938006. 3
42558938007. 4



Question Number : 114 Question Id : 4255899766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 & [J3at & a%-gH WaHd Ad| 39319 ©H;

A. & GRS

B. fHaHS edTfes
e, BEATEIEH

L) Hold™3

AT feamy ©F 92 a9
L. D,C,B, A
2, C,B.D, A
% C,A,B,D

4. A,B,C,D
Options :
42558938008. 1
42558938009. 2
42558938010. 3
42558938011. 4

Question Number : 114 Question Id : 4255899766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 feu fg3at & ar&-gH wiaHAd AdT 3931 &R
A. & fgASter
B. fHoWz eofes

e eI IEH

T BEGIES
AdT fea®y €f 9= a9
i DO R.A

2 C,B,D, A
3 C,A.B,.D

4. A,B,C,D
Options :
42558938008. 1
42558938009. 2
42558938010. 3
42558938011. 4



Question Number : 115 Question Id : 4255899767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-

3T a®-gH WaHd Urdl I97 © Fdl gH BF Ug'E a4
9 NS g% fHW-——ISH Ay aHe

wad 2F T9-udlas Il

fagd & T9-Has fiiw

HaY €f T9-ufoed fHw qu

AdT fee®y ©f 92 a9

I D,A,B,C

=~

2. B,D,C A
i D,C,A,B

4. A,B,C,D
Options :
42558938012. 1
42558938013. 2
42558938014. 3
42558938015. 4

Question Number : 115 Question Id : 4255899767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T

Ef3aAa a&-aH wiaAd Urdl a9t € AdT gH 2 ugs d9;

A, T B ST THW--UIEH Hw aAe
B. ndW € T9-JdES T

C. [dad €f T9-Hos Hw

D. HaY €t T9-ufded fHw qu

AJT feasy €F g€ ad .

1 D,A,B,C

2 B,D,C, A
3. D.C,A.B

4. A,B,C,D
Options :
42558938012. 1
42558938013. 2
42558938014. 3
42558938015. 4



Question Number : 116 Question Id : 4255899768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 et yr3at & feus’ € YaHs-2d »gHY Fd1-80 o9
A.  JlgaTed ITHT [FfamE - <€ nE&Id3ar

B. W I FH [LfdpAE - J9dId3 THWY

C. Jadt g fefomrs - mufEed fiw fur

D. YA I A3 3 AQY - g2 Ay 893

AJT feasu € g2 a9 ¢

I B.A,C,D

2. C,B.D, A
i A D C. B

4. A,B,C,D
Options :
42558938016. 1
42558938017. 2
42558938018. 3
42558938019. 4

Question Number : 116 Question Id : 4255899768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 fedmit URsat & fEus’ € USHs-2d WA FYi-80 dJ9:
A. UlsoTed I fefdm® - I niasid3ar

B. FTHT 3 FHT LAIE - I 93 THY

C. gt s fefamrs - qufeeg fw Aur

D. JHEl sH A3 3 AU - ger fiw 593

AT fea®y & ¥€ a9

i B,A,C,D

2 C,B,D, A
3 A,D.C.B

4. A,B,C,D
Options :
42558938016. 1
42558938017. 2
42558938018. 3
42558938019. 4



Question Number : 117 Question Id : 4255899769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
UH USTH gndT 9193 U I-AiddT 8 fEuat € ydHe-29 MaAd &-aHaST € Hdl
feamy feg ugz :

A. O3S nEfaar &

B. SHHT

[¥] =

i olddd

Ae3tEd & faar /t
T fea®y ©f 9 o9

1. B,A,C,D

S

2. C,B,D, A
3. A,D.C,B

4. A.B. €. D

Options :

42558938020. 1
42558938021.2
42558938022. 3
42558938023. 4

Question Number : 117 Question Id : 4255899769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
UH YITH gndT 9193 JUEi-Aldat 8 fEdat € ydHe-29 miaAd S&-gfHI3T € Hdl
fea®y feg ugz :

A. OF nEfagar 2

B.  &HHI

C. dgad

D. F<3'Ed & fqar HI
AT feasy ©F 9& a9
T B,A,C,D

2 C,B.,D, A
3 A,D,C,B

4. A.B, €D

Options :

42558938020. 1
42558938021. 2
42558938022. 3
42558938023. 4



Question Number : 118 Question Id : 4255899770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

BATTT w3 AlTNETT Mifitmis &% FEUS I St YRS 8 UdTHS JB-aH MEH

Us'e!

A. BIEE W3 HOT& VAt Ffas - adas fHw fie
B. &g o< €F fAgns ufafonr - agg fHw

C. &audr, 3 W3 AfgwmaT - giifeg ffw ufgar

D. JmEt Algnog: ugte f[ds - AAfded fHw

AJT fea®y € & a9

I A B C.D

2 C,B,D, A
3 A.D,C,B

4. B, A D

Options :

42558938024. 1
42558938025. 2
42558938026. 3
42558938027. 4



Question Number : 118 Question Id : 4255899770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

BATTT w3 AlTNETT Mifitmis &% FEUS I St YRS 8 UdTHS JB-aH MEH

Us'e!

A. BIEE W3 HOT& VAt Ffas - adas fHw fie
B. &g o< €F fAgns ufafonr - agg fHw

C. &audr, 3 W3 AfgwmaT - giifeg ffw ufgar
D. JmEt Algnog: ugte f[ds - AAfded fHw

AJT fea®y € & a9

I A B C.D

2 C,B,D, A
3 A.D,C,B

4. B,ACD

Options :

42558938024. 1
42558938025. 2
42558938026. 3
42558938027. 4

Question Number : 119 Question Id : 4255899771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 feu Uqrdt gel aeintt ¢ feust € aw-gH niaAd 39318 feg o4
A. @ JdEd

B. &dJ¢ &did

C. HI J&H edie

D. HIE nifore FIE3 &l

AIT feamy €F g2 &9

s D,A,B,C

2 C,B.D, A

3. A,B,C,D

4. B.A.C.D
Options :
42558938028. 1
42558938029. 2
42558938030. 3
42558938031. 4



Question Number : 119 Question Id : 4255899771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J6 feu Uqrdt gel gt ¢ fEust € aw-gH nigA™ 39219 e &4
A. @ JdEd

B. &dJ¢ &did

C. HI9 Jd&H 24T

D. HIIE »ifore AIE3 &l

AJT fea@y €F g2 9

s D,A,B,C

s C,B.D, A

3. A,B,C,D

4. B.A.C.D
Options :
42558938028. 1
42558938029. 2
42558938030. 3
42558938031. 4

Question Number : 120 Question Id : 4255899772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
g1 ATfg3 »idreHT YIAlgs Jo fadmt yrsar & fea Hes & A nighd as—gH 29
fawa:

A. TI2 I T fddd - g%ee AW
B. Hd 9e% famr - FAde Ay A&
C. W&l I®H - J9gds Y 354
D. &% waladr & - UH ya'H|

AT fea®y € 9¢ a9

15 A,B,C,D

2 B, D, C A
3 A.D,C,B

4. B,ACD

Options :

42558938032. 1
42558938033. 2
42558938034. 3
42558938035. 4



Question Number : 120 Question Id : 4255899772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IS A3 »ideHT YTATGS J6 @it yrsat 8 fea Hes © A% nigHa as-aH <9
few

T’ fo®l © fodd - g®%ee AW

a1 ge% famr - Foe iy 7iE®
VA& ABH - 986 HW &I
I8 niEfadr < - UH Yol

Aat fea®y € 92 a9

1. A,B,C,D

g 0 " »

2. B.D,C, A
3. A,D.C,B

4. B,A,C,D

Options :

42558938032. 1
42558938033. 2
42558938034. 3
42558938035. 4

Question Number : 121 Question Id : 4255899773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

MSHATS it &e-Jga= & USTHS JB-3H AT UET:

A. Uda

B. dgIA3®

C.  fomf3nf & &f dule &
D. Ugae & uar

FdT feamy & 9% &9

i B.C,A, D

5, C.B. DA

3. AD.CB

4. B,A,C,D
Options :
42558938036. 1
42558938037. 2
42558938038. 3
42558938039. 4



Question Number : 121 Question Id : 4255899773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WEHATS Ehnff are-gga™=l 3 YdTHA IT&-gH MEHT USTE:

A,  Uds

B. JHIAS®

C. fomf3nt = ot 9Hie &t
D. Jg&e ¥ UEl

It feamy & 9= a9

L. B.C,A,D

K C.B,D,A

5 AD.C.B

4. B,A,C,D
Options :
42558938036. 1
42558938037. 2
42558938038. 3
42558938039. 4

Question Number : 122 Question Id : 4255899774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jode W g&T £t uRsar ©F UaTHE J&-gH WEAT USETE 9.
A.  UISTH JdEnae ulgud

B. UISTHT UATET ATfOS € HA®

C. VUJITH & A9 YR
D.  AHIT Algmag

AdT [<e@y 2F 92 o

|z D,B,C, A

2 C,B,D, A

3 A,D,C,B

4. B.A.C.D
Options :
42558938040. 1
42558938041. 2
42558938042. 3
42558938043. 4



Question Number : 122 Question Id : 4255899774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

J9ue HW 82T £ URSE! ©F YaTHE J&-gH MEHY UE'E o.
A.  UJSH Sdehde ufouy

B. uUd<HT UATET A3 © HA®

C. UJTH T ASWESd YAdl

D.  mHItmr Ao

FdT fea®y & 92 a9 |

I D.B,C, A

2. C,B.D, A
i A D C. B

4. B.A.C.D
Options :
42558938040. 1
42558938041. 2
42558938042. 3
42558938043. 4

Question Number : 123 Question Id : 4255899775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g2l 29 fHW Tt Hutfes ggae! § UTHG J%-oH neH'S UETE:

A. H®&S ©F 926 o A Ugt
B. Ua3a AeHAH!

Cc. fRy & gasHe

D. yds g ygamw

FdT fea®y & 9€ a9

fie D,B,C, A

o D.C. B, A

3. ADC B

4. B.A,C.D

Options :

42558938044. 1
42558938045. 2
42558938046. 3
42558938047. 4



Question Number : 123 Question Id : 4255899775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g2l dig fHw dinff Hufes ggae’ § UTHe 8- ngHd UETE:

A. H®S OF d2& o At Ugt
B. YdSs weHAT

C. [yt &f gasHe

D. yds Jg ygamw

FdT feasu &F 92 a9

ke D,B,C, A

2. D,C.B, A
3. ADC B

4. B,A,C,D

Options :

42558938044. 1
42558938045. 2
42558938046. 3
42558938047. 4

Question Number : 124 Question Id : 4255899776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

3. A g T &t Ursal € UaTHs J&-gH WMaHTd UETE 9.

A. JOHE e O3 3 fegg

B. TE-HAAY

C. Jogel [Ire-fopet 3 fegaaa

D. HI g9 dF Aoy € AHa&@is YHAfdes
FdT feemy <F 92 a9

s B.C,A,.D

2. D.C,B, A

3. A.D.C.,B

4. B.A.C.D
Options :
42558938048. 1
42558938049. 2
42558938050. 3
42558938051. 4



Question Number : 124 Question Id : 4255899776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3. A9 THW @it URSA! & YaTHs &-gH MEATT UETE a9

Fal

A.  JOHf3 =fe; o3 3 feo

B. TE-HAd

C. Jdogel fepe-foret 2 feggua
D. HId9 dE Ao €f AHST&I6 YHIdST
AdT fee®y ©f 92 a9

I B,C,AD
2. D,C,B, A
i A D C. B

4. B.A.C.D
Options :
42558938048. 1
42558938049. 2
42558938050. 3
42558938051. 4

Question Number : 125 Question Id : 4255899777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HH=3 fHW &t g I8 fedinit UASET & USTHG-3® WigH'd Fdt aH <9 uge:
A.  Trvast =t fags 3 ufost

B. A% 8B

C. dErag & AE Har

D. fao¥ Jo AfF 73

AdT fea®y € g9 99

s B,C,A,D

2 D,C,B, A

3 B,A.D,C

4. B.A.C.D
Options :
42558938052. 1
42558938053. 2
42558938054. 3
42558938055. 4



Question Number : 125 Question Id : 4255899777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HHSS fHw &t Tt I8 fedinit UASST & YTHE-® WigHd Fdt gH &g uge:

A,  fiest o fags 3 ufost
B. nAs 3 &a®

C. dJEtag e e iT

D. foou J& g 3

AdT feasy & g2 a9

s B,C.A,D

2. D.C.B, A

3. B.A,D,C

4. B.A.C.D
Options :
42558938052. 1
42558938053. 2
42558938054. 3
42558938055. 4

Question Number : 126 Question Id : 4255899778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Het-1 €7 Hei-11 &8 H&& &9

He -1 Het-11
A. Z3JH €T &9 HI® &g i. I IH® & HAer ol gat
B. grdt €1 =79 Ho® Sie ii. fHeled fegardiv &t uat
C. WHT € T HI&" Ul iii. B FMTBHT ST TBT
D. 83T € ¥/9 Hu® UnAt iv. 23 WAIH T g&t
J6 feg feamyt fed” Adt 839 € ¥ &7 ¢

1. A-iii B-ii C-iv D-i

2. A-ii  B-iii C-iv D-i

3 A-1 B-iv C-ii D-iii
4. A-ii  B-i  C-iv D-iii
Options :

42558938056. 1
42558938057 2
42558938058. 3
42558938059. 4



Question Number : 126 Question Id : 4255899778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hd1-1 €7 Hdi-11 &8 fH&® &9

He -1 Het-11
A. T3JH BT @9 HI& g i. e gH® € HAe! o ual
B. ISt €1 279 HI& St ii. fFeteg fegadiy & uat
C. nfAT &F T19 Has&™ Ufg&T iii. B&" FFIBHT ST gaT
D. @3t & T/9 How Unet iv. 23 wirdm o gat

J6 fel feamyt fed Adt B39 dH 9=z a9
o A-i1 B-ii C-iv  D-i

2. A-ii B-iii C-iv  D-i

i 1 A-i B-iv C-ii  D-iii

4. A-ii B-i C-iv  D-iii

Options :

42558938056. 1

42558938057. 2

42558938058. 3
42558938059. 4



Question Number : 127 Question Id : 4255899779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gel-1 27 gol-1l &% fH&® a4

Het-1 HT-11
A. IEd i. A3Y fHw dig
B. TTH-®1H" ii. IOHY TAW HATeg
C. AfgoTe iii. A® THY
D. Hdl iv. I939 AW T91®
Budas = At s T
L A-iv B-ii  Ciii D-i

2 A-i B-ii  C-iv D-iii
3 A-ii B-iii C-iv D-i
4. A-iii B-iv C-1 D-ii
Options :

42558938060. 1

42558938061. 2

42558938062. 3
42558938063. 4



Question Number : 127 Question Id : 4255899779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gel-1 27 gol-1l &% fH&® a4

Het-1 HT-11
A. IEd i. A3Y fHw dig
B. TTH-®1H" ii. IOHY TAW HATeg
C. AfggTe iii. A THY
D. ¥dl iv. ¥939 AW d91®
Budas T Aot s T
L. A-iv B-ii  Ciii D-i

2 A-i B-ii  C-iv D-iii
3 A-ii B-iii C-iv D-i
4. A-iii B-iv C-1 D-ii
Options :

42558938060. 1

42558938061. 2

42558938062. 3
42558938063. 4



Question Number : 128 Question Id : 4255899780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hd1-1 €7 Hdi-11 &8 fH&® &9

BeT-1 A1
A. ydhr, 93T 3 s i. A=IHET
B. ¥zt ii. wgdty
C. aat grar iii. AufeTd wifHs
D. fogrart €t 379 iv. TIH® g9

J6 fey feamyt fed ATt B39 S 9z a9
k. A-iv  B-i C-ii D-iii

2, A-i B-iv  C- D-iii

% A-ii B-ii C-iv DA

4. A-i B-ii  C-iii  D-iv

Options :

42558938064. 1

42558938065. 2

42558938066. 3
42558938067. 4



Question Number : 128 Question Id : 4255899780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hd1-1 €7 Hdi-11 &8 fH&® &9

BeT-1 A1
A. ydhr, 93T 3 s i. A=IHET
B. ¥zt ii. wgdty
C. aat grar iii. AufeTd wifHs
D. fogrart €t 379 iv. TIH® g9

J6 fey feamyt fed ATt B39 S 9z a9
k. A-iv  B-i C-ii D-iii

2, A-i B-iv  C- D-iii

% A-ii B-ii C-iv DA

4. A-i B-ii  C-iii  D-iv

Options :

42558938064. 1

42558938065. 2

42558938066. 3
42558938067. 4



Question Number : 129 Question Id : 4255899781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hd1-1 €7 Hdi-11 &8 fH&® &9

Hot-1 H 11
A. TEH i. deall
B. feg=s3 ii. TGS HUHE © 996
C. s iii. foma
D. feg= iv. fHgra

J6 fey feamyt fed ATt B39 S gz a9
k. A-iv  B-iii  C-ii D-i

2, A-i B-i C-iv  D-iii

% A- B-ii C-ii  D-iv

4. A-iv  B-i C-ii D-iii

Options :

42558938068. 1

42558938069, 2

42558938070. 3
42558938071. 4



Question Number : 129 Question Id : 4255899781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hd1-1 €7 Hdi-11 &8 fH&® &9

Hot-1 H 11
A. TEH i. deall
B. feg=s3 ii. TGS HUHE © 996
C. s iii. foma
D. feg= iv. fHgra

J6 fey feamyt fed ATt B39 S gz a9
k. A-iv  B-iii  C-ii D-i

2, A-i B-i C-iv  D-iii

% A- B-ii C-ii  D-iv

4. A-iv  B-i C-ii D-iii

Options :

42558938068. 1

42558938069, 2

42558938070. 3
42558938071. 4



Question Number : 130 Question Id : 4255899782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A -1 €7 =11 878 H&s a9

BeT-1 met-1I
A. &< JBeE i. Jafenrs ffw gre
B. fea fegrdt ot i, WIEHAS
C. gt iii. JIAIS fHW
D. #3wit = F37 iv. Udggds fHw

L]

J6 fey feamyt fed ATt B39 S 9z a9

L. A-ii  B-i C-iv  D-iii
2 A-i B-ii C-ii D-iv
5 A-iv. B-ii Cai D-i
4. A-iv  B-i C-iii D-ii

Options :

42558938072. 1

42558938073. 2

42558938074. 3
42558938075. 4



Question Number : 130 Question Id : 4255899782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A -1 €7 =11 878 H&s a9

BeT-1 met-1I
A. &< JBeE i. Jafenrs ffw gre
B. fex fegwt v ii. MEHAS
C. Tt iii. JIATS THW
D. F3if = 337 iv. Jadds AW

L]

J6 fel feamyt fed Adt B39 dH 9=z a9

L. A-ii  B-i C-iv  D-iii
2 A-i B-ii C-ii D-iv
5 A-iv. B-ii Cai D-i
4. A-iv  B-i C-iii D-ii

Options :

42558938072. 1

42558938073. 2

42558938074. 3
42558938075. 4



Question Number : 131 Question Id : 4255899783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

He-1 =7 gat-11 &8 fHes I

Hd1-1 Het-11
A. ©fTs Ay i, J] & & fegrgura
B. Tou® fHw Ud ii. 99 &6x € Afasx yf3sT
C. T3& fHw Haft iii. Jgaex T gEgs AU’
D. 3795 fHy iv. d9 &6k : fd36 3

J6 fey feamyt fed ATt B39 S gz a9
k. A-i B-ii C-iv  D-iii

2, A-1 B-in CA D-iv

% A-ii B-1i  C-iit D-iv

4. A-iv B-iii C-ii DA

Options :

42558938076. 1

42558938077. 2

42558938078. 3
42558938079. 4



Question Number : 131 Question Id : 4255899783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

He-1 =7 gat-11 &8 fHes I

Hd1-1 Het-11
A. ©fTs Ay i, J] & & fegrgura
B. Tou® fHw Ud ii. 99 &6x € Afasx yf3sT
C. T35 fHw Hait iii. d9 &6x € g293 HUs
D. 3795 fHy iv. d9 &6k : fd35 3

J6 fel feamyt fed ATt B39 dH gz a9
A-i B-ii C-iv  D-iii

2, A-1 B-in CA D-iv

% A-ii B-1i  C-iit D-iv

4. A-iv B-iii C-ii DA

Options :

42558938076. 1

42558938077. 2

42558938078. 3
42558938079. 4



Question Number : 132 Question Id : 4255899784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A -1 & gdl-11 578 Hes o9

Het-1 He-11
CUESSERH a2t
A. 3 yu & nfa® afder &, B HE & nad ZRer ot i. fHe gHT gew<!
frg ®a' 3 7T &5 =i, fagg s € &2 Ui =
B. d¥T HfggH &d1 H fen A=q feg g &< ii. H.H. HHT
3 &’ 36 T MES3 &dT Har
C. fazat gt I fog T3, g% a8 Ad fgamar iii. T gBLI

g ©f 931 fgat, 9 °F Haei® fadt 531 5
foags ooz ©f fa3" =, ur 9ot & gt 573

D. T HJE3 39T 80 3 I I, »ireHt I<ar yas meHT iv. ofggme fifw
fern BT 3e93 @ Aoe Jf 90T, B HJes 8Fd 9w of foor|

J6 fol feamyt fed Adt B39 dH gz a9
l. A-i B-ii  C-iv D-iii

2. A-iii B-iv  C-i D-ii

3 A-i B-iv  C-ii D-iii

4. A-iv  B-iii C-ii D-i

Options :

42558938080. 1

42558938081. 2

42558938082. 3
42558938083. 4



Question Number : 132 Question Id : 4255899784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A -1 & gdl-11 578 Hes o9

Het-1 He-11
CUESSERH a2t
A. 3 yu & nfa® afder &, B HE & nad ZRer ot i. fHe gHT gew<!
frg ®a' 3 7T &5 =i, fagg s € &2 Ui =
B. d¥T HfggH &d1 H fen A=q feg g &< ii. H.H. HHT
3 &’ 36 T MES3 &dT Har
C. fazat gt I fog T3, g% a8 Ad fgamar iii. T gBLI

g ©f 931 fgat, 9 °F Haei® fadt 531 5
foags ooz ©f fa3" =, ur 9ot & gt 573

D. T HJE3 39T 80 3 I I, »ireHt I<ar yas meHT iv. ofggme fifw
fern BT 3e93 @ Aoe Jf 90T, B HJes 8Fd 9w of foor|

J6 fol feamyt fed Adt B39 dH gz a9
l. A-i B-ii  C-iv D-iii

2. A-iii B-iv  C-i D-ii

3 A-i B-iv  C-ii D-iii

4. A-iv  B-iii C-ii D-i

Options :

42558938080, 1

42558938081. 2

42558938082. 3
42558938083. 4



Question Number : 133 Question Id : 4255899785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hdt-1 &7 Het-11 &8 TH&® o9

He -1 He 11
Afasa Ae-Tieal LEE
A. faH&M & g9 i. g®de Hy
B. yg¥ UgH €T anEt ii. FHET g%
C. &g 7 Udl Hfax iii. €6 &all
D. du gf €t a=3at iv. ¥9H® Hw ofg

L]

Jo feu feasut fed Adt €39 <t 97 o<

e A-iii B-iv C-i D-ii
2, A-ii  B-iii C-i D-iv
< A-iv B-i  C-iii D-ii
4. A-i B-iii C-iv D-ii

Options :

42558938084. 1

42558938085. 2

42558938086. 3
42558938087. 4



Question Number : 133 Question Id : 4255899785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hdt-1 &7 Het-11 &8 TH&® o9

He -1 He 11
Aoz Ae-ieal syl
A. ToH&mt & arg i. F®<T (Hy
B. yJ¥ UgH €T aHTET ii. FAET g5
C. s g7 Udl Hiaa iii. d€& &aif
D. Ty 2" gt ar3at iv. 29H& THW ol

L]

Jo feu feasut fed Adt €39 <t 92 o<

e A-iii B-iv C-i D-ii
2, A-ii  B-iii C-i D-iv
< A-iv B-i  C-iii D-ii
4. A-i B-iii C-iv D-ii

Options :

42558938084. 1

42558938085. 2

42558938086. 3
42558938087. 4



Question Number : 134 Question Id : 4255899786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hd1-1 €7 Hdi-11 &8 fH&® &9

Ao -1 He1-11
A. MHTTET B 3216 nBoaT US&-Jeed 9= i. 1978
B. Aoz fefamra-afagms fHw ii. 1982
C. faT3t3a gy fAul3 3 mHifem-rarEte fHw iii. 1974
D. €T gigeH; L6 3 JUa-936 (AW Hait iv. 1992
Jo feu feawmut feg” AdT 837 ©f 92 a9

Ly A-iv  B-iii C-ii D-i
2 A-ii B-i C-iv D-iii
3 A-iii B-iv  C-ii D-i
4. A-i B-ii C-iv D-iii

Options :

42558938088. 1

42558938089. 2

42558938090. 3
42558938091. 4



Question Number : 134 Question Id : 4255899786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hd1-1 €7 Hdi-11 &8 fH&® &9

Ao -1 He1-11
A. MHTTET B 3216 nBoaT US&-Jeed 9= i. 1978
B. ATg3 fefama-afdsds fHw ii. 1982
C. fEg33a gy fATiz 3 miftmr-marEts fHw iii. 1974
D. & gigeH; fdlEs 3 JUa-936 AW Hait iv. 1992
Jo feu feamut feg” AdT 837 ©fF 92 o

Ly A-iv  B-iii C-ii D-i
2 A-ii B-i C-iv D-iii
3 A-iii B-iv  C-ii D-i
4. A-i B-ii C-iv D-iii

Options :

42558938088. 1

42558938089. 2

42558938090. 3
42558938091. 4



Question Number : 135 Question Id : 4255899787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Het-1 2 g 1-11 5% H&& od

Hol-1 Het-11
A. TT sf®3 i. W3 HS™M TH, Y3, fEE I 6
B. Tio-ym’3 ii. wfeH=, EBmr, Flouee!
C. dides iii. oH® g @@, fd3r 3 Ha3, IB6
D. dides iv. 8397 g9yg, »is T HIEHE!, digla

J6 fou feamyt fed” ndt 839 <t d7 aa;

1. A-iv B-iii C-ii D-i

2. A-ii B-i C-iv D-iii

3 A-iii - B-i C-iv D-ii

4. A-1 B-ii  C-iv D-iii
Options :

42558938092. 1
42558938093. 2
42558938094. 3
42558938095. 4



Question Number : 135 Question Id : 4255899787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Het-1 2 g 1-11 5% H&& od

Hol-1 Het-11

A. TT sf®3 i. W3 HS™M TH, Y3, fEE I 6
B. 4ig-ym’3 ii. wfeHs!, 28T, Flgyael

C. tide3 iii. oH® gt T, 937 3 13, A&
D. tiges iv. B30T F9Yg, »i3 T HISTHE!, dFlT
J6 fou feamut fed ndt 839 <t d2 o

1. A-iv  B-iii  C-ii D-i

2. A-ii B-i C-iv D-iii

3. A-iil - B-i C-iv D-ii

4. A-i B-ii  C-iv D-iii
Options :

42558938092. 1
42558938093. 2
42558938094. 3
42558938095. 4



Question Number : 136 Question Id : 4255899788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A 1-1 2 =11 878 H&s 9

Hot-1 Ha1-11
fermT B¢
A. 719 THeg i ¥3
B. J1g '8 - nifore am9 ii. TeEmr
C. J19 - FI=es AW iii. AE
D. fHaqr Aifogt - Ul iv. g3
J5 feu feasut fed Fdt €39 & 9T a9;
1. A-iii B-ii C-iv  D-i
Z. A-ii  B-i  C-iv  D-iii

3. A-1 B-iv C-ii D-iii

4. A-1 B-ii C-iil D-iv
Options :
42558938096. 1
42558938097. 2
42558938098. 3
42558938099. 4



Question Number : 136 Question Id : 4255899788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A 1-1 2 =11 878 H&s 9

Hot-1 Ha1-11
fermT B¢
A. 719 THeg i ¥3
B. J1g '8 - nifore am9 ii. TeEmr
C. J19 - FI=es AW iii. AE
D. fHaqr Aifogt - Ul iv. g3
J5 feu feasut fed Fdt €39 & 9T a9;
1. A-iii B-ii C-iv  D-i
Z. A-ii  B-i  C-iv  D-iii

3. A-1 B-iv C-ii D-iii

4. A-1 B-ii C-iil D-iv
Options :
42558938096. 1
42558938097. 2
42558938098. 3
42558938099. 4



Question Number : 137 Question Id : 4255899789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hd1-1 €7 Hdi-11 &8 fH&® &9

g1 A -1
A. HIS™ i. i3 © ni3 3 T9-39 »iBE B THEws HET
B. fHFaT ii. dW® T WisH g
C. A& iii. g% T ufos fimg
D. H3®' iv., a=% © g ©F 99 39
J6 fou feasut fed ndt 839 I 92 o9

1. A-ii B-iv C-i D-iii

2. A-ii  B-i  C-iv D-iii

3. A-i B-iv  C-ii D-iii
4. A-i B-ii  C-ii D-iv
Options :

42558938100. 1
42558938101. 2
42558938102. 3
42558938103. 4

Question Number : 137 Question Id : 4255899789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hel-1 €7 Hei-11 &8 fH&™® o9

Het-1 A -1
A. HES™ i. fig € niz 3 T9-T9 Bz T8 THHs HIT
B. fHAaT ii. W& T WisH e
C. e iii. 9= =7 ufas g
D. H3®' iv. I=% © @ T 99 3o

J6 fou feamut fed” ndt 839 < 97 o9

Le A-ii B-iv  C-1 D-iii
2. A-ii B-i  C-iv  D-ii
3. A-i B-iv  C-ii D-iii

4. A-i B-i  C-iii D-iv
Options :

42558938100. 1

42558938101. 2

42558938102. 3

42558938103. 4



Question Number : 138 Question Id : 4255899790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-1 27 -1 578 H&® o9

A -1 HY -1
RICT) I
A. AGdET 93 i. SAOHTIS THW AT
B. 973 ¥ gidT ii. THET HS
C. J&dT TSt iii. IH AQY wiEHt
D. miz € &F iv. F®Ee fHy
Jo feu feasut fed AT €39 &F 9 &<
l.  A-i B-iv C- D-iii
2. A-di B-i C-iv Ddiii
3. A Beiv C-i  D-iii

4. A-iii - B-i C-iv D-ii
Options :
42558938104. 1
42558938105. 2
42558938106. 3
42558938107. 4



Question Number : 138 Question Id : 4255899790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-1 27 -1 578 H&® o9

A -1 HY -1
BB BTHATT
A. AGdET 93 i. SAOHTIS THW AT
B. I3 € 9T ii. AASE HS
C. I&dT U3t iii. I AU wiEHt
D. »ig T &7 iv. g8 Hw
o fau feqaut fog" Aot €39 ©f 9 o
1. A-ii B-iv C-i D-iii
2, A-ii B-i C-iv  D-iii
3 A-i B-iv C-ii D-iii

4. A-iii - B-i C-iv D-ii
Options :
42558938104. 1
42558938105. 2
42558938106. 3
42558938107. 4



Question Number : 139 Question Id : 4255899791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A -1 €7 =11 878 H&s a9

g1 Ae-11

Unsd FY
A. UTH H3YH i. fUptu® 37
B. s=mft ATt ii. 4. Aoy iy
C. T9H 3 AT iii. JouHE fFw UiSs3t
D. HlEs a3t iv. B [HW SHS Ml
o fou feamut fog" At 839 &t 9 a7
1. A-ii  B-iv  C-i D-iii

A-ii  B-i C-iv D-iii

S

A-1 B-iv C-ii  D-iii

4. A-iii - B-i C-ii  D-iv
Options :

42558938108. 1

42558938109. 2

42558938110. 3

42558938111. 4



Question Number : 139 Question Id : 4255899791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A -1 €7 =11 878 H&s a9

g1 Ae-11

Unsd FY
A. UTH H3YH i. fUptu® 37
B. 3=t AT ii. Y. A" fHw
C. O9H 3 AZO9 iii. JTEHE AW UiS®3T
D. HlEs a3t iv. B [HYW STHS Ml
o fou feamut fog" At 839 &t 97 a7
1. A-ii  B-iv  C-i D-iii

A-ii  B-i C-iv D-iii

S

A-1 B-iv C-ii  D-iii

4. A-iii - B-i C-ii  D-iv
Options :

42558938108. 1

42558938109. 2

42558938110. 3

42558938111. 4



Question Number : 140 Question Id : 4255899792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 € =11 &% H&s a9

Hei-1 Het-11
A. IfdZaHT uduar i. J9 938 H®
B. AT UyguaT ii. UIH AHTI 98

C. S/ UgHTg UdugT iii. e At g it

D. FaHAH Uguar iv. HYHaI AJAT &H

J6 fe feawmut fed” ATt B39 < 9= a4
i A-iv  B-iii CA D-ii

2. A-l B-ii  C-iv  D-iii

< 4 A-ii B-i C-iv  D-iii

4. A-iii B-i C-iv  D-ii

Options :

42558938112. 1

42558938113.2

42558938114. 3
42558938115. 4



Question Number : 140 Question Id : 4255899792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A -1 €7 =11 878 H&s a9

Hei-1 Het-11
A. IfdZaHT uduar i. J9 938 H®
B. AT UyguaT ii. UIH AHTI 98

C. S/ UgHTg UdugT iii. e At g it

D. FaHAH Uguar iv. HYHaI AJAT &H

J6 fe feawmut fed” ATt B39 < 9= a4
o A-iv  B-iii CA D-ii

2. A-i B-ii  C-iv  D-iii

i 1 A-ii B-i C-iv  D-iii

4. A-1i B-i C-iv  D-ii

Options :

42558938112. 1

42558938113.2

42558938114. 3

42558938115. 4

Sub-Section Number : 2
Sub-Section Id : 425589387
Question Shuffling Allowed : No



Question Id : 4255899793 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Lt e o |

J6 fod U9 © w9 '3 U's I ype' © AdT feasy gE

A fiiw Tt gora® feg wicora 7T &% fHed T a9y 20d fHeer 7187 nisAg
fiedlt feg Hy 38 T4 209 J6 | Hies &7 AUT a96 ant 3 mie It yBA U3 8t JI 7%
fiw =7 sEgg QusteasT g9 Un T o féar U 7 71 “Hat a=T, “uger’ oife saemit
feH farH gt a5 1 Of, AF® & faud faud f6d® warag Idl aae it &Y o yagier=!
B9 g 937 8% U J S “a@el”’, “3%¥ meHl” “TH B8IF " nife aemt I8 | 776
fur €t saraint feg AHHa tagEee fHeer 31 “AHHEE gageee fER d® € Ha
F9eT J fd Afosa 73 fesde &fomit =ga-Awer 3 fEr 397 um Ji3T 72 fa 8Ag mast
SfEnt & GIFT »i3 Ty HaST TfEn § geddl 3 fs3es sAtg 4271 A fHw fer 3
T & Fuel e Jinwgfed At gmy Afds few AAe fHw AHeeE! GEOETE 3
yH=d U fog 8FdW a9d »mue! fedus ugTe 58T J| BA fHw & eofese® & yge
<t agfenr T1fer Wd 8ret qael ‘TR #lg fed HU3eyTs 998

Sub questions

Question Number : 141 Question Id : 4255899794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
s TR @t gaemit feg fdedt @ gagsg;

L. vifFa gu feg Um der J1

2. IHifex qu feg UF der |

3. nyHEd 9 feg U\ der I

4, WTOIRS FlIe6 &% (Hed o g9y 2U9 UF der J|
Options :
42558938116. 1
42558938117 2
42558938118. 3
42558938119, 4

Question Number : 142 Question Id : 4255899795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

7 T i3 garfesew;

1. HAa Hy & egfese™ o yse &di agian|

2. TS THW & S9TEse™ © yge mis df Admit Saramit f@n|
3. HAS (HW & edesee € yse nidls ‘OH Bi&T Jda! (el |

4. AT AW & egfesee € yse nitls dE! aaat adl fedt

Options :

42558938120. 1
42558938121. 2
42558938122.3
42558938123. 4



Question Number : 143 Question Id : 4255899796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A fAW €t gaz nf feg tergg =7 gu

1. A& AW Jaret € Upadt feg s=a/Buaed &df Je

2. Bug=a gu feg UF J o A9EA g€ AEr J|
. Bugea gu feg uF 7 & fdar U Ater T

4. AAS THW o8 HY @ yHed 9u 29 UF 996 @@ Jdeidd J |

(v

Options :

42558938124. 1
42558938125. 2
42558938126.3
42558938127. 4

Question Number : 144 Question Id : 4255899797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A& AW 2T Jora-99aT »iE yasiEe! &g

]

1. AT fRW & yrare=t sfag

]

J&dT 3T

[fos

2. AAS THY & SaAsT &dd 8 JTE-9gaT €7 widl geien |

3. HA® AW & yua==T #fag w3 sars &ad 8 fHe< gy feg um o137

ik

4. FA® TAY & Yaistere &(dg & 8% yes o137

Options :

42558938128. 1
42558938129. 2
42558938130. 3
42558938131. 4

Question Number : 145 Question Id : 4255899798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
THTS! GE9EST M3 Ads fHw;

AHTETE! GETESE & UH ddd [e8uz ug'e ge8er J|

AHATE! WEJELE § huHed gu a9 UF J9eT J|

AHHSE! WEgESE & UH &dl ddeT|

4.  PHHRE! WEGETE 3 UH F96 € dege Il feBuE USTE &l gER T

'.AJI‘-J'_—‘

U, 0o, 1M,

Options :

42558938132. 1
42558938133.2
42558938134. 3
42558938135. 4



Question Id : 4255899793 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Lt e o |

J6 fod U9 © w9 '3 U's I ype' © AdT feasy gE

A fiiw Tt gora® feg wicora 7T &% fHed T a9y 20d fHeer 7187 nisAg
fiedlt feg Hy 38 T4 209 J6 | Hies &7 AUT a96 ant 3 mie It yBA U3 8t JI 7%
fiw =7 sEgg QusteasT g9 Un T o féar U 7 71 “Hat a=T, “uger’ oife saemit
feH farH gt a5 1 Of, AF® & faud faud f6d® warag Idl aae it &Y o yagier=!
B9 g 937 8% U J S “a@el”’, “3%¥ meHl” “TH B8IF " nife aemt I8 | 776
fur €t saraint feg AHHa tagEee fHeer 31 “AHHEE gageee fER d® € Ha
F9eT J fd Afosa 73 fesde &fomit =ga-Awer 3 fEr 397 um Ji3T 72 fa 8Ag mast
SfEnt & GIFT »i3 Ty HaST TfEn § geddl 3 fs3es sAtg 4271 A fHw fer 3
T & Fuel e Jinwgfed At gmy Afds few AAe fHw AHeeE! GEOETE 3
yH=d U fog 8FdW a9d »mue! fedus ugTe 58T J| BA fHw & eofese® & yge
<t agfenr T1fer Wd 8ret qael ‘TR #lg fed HU3eyTs 998

Sub questions

Question Number : 141 Question Id : 4255899794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
s TR @t gaemit feg fdedt @ gagsg;

L. vifFa gu feg Um der J1

2. IHifex qu feg UF der |

3. nyHEd 9 feg U\ der I

4, WTOIRS FlIe6 &% (Hed o g9y 2U9 UF der J|
Options :
42558938116. 1
42558938117. 2
42558938118. 3
42558938119, 4

Question Number : 142 Question Id : 4255899795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

7 T i3 garfesew;

1. HAa Hy & egfese™ o yse &di agian|

2. TS THW & S9TEse™ © yge mis df Admit Saramit f@n|
3. HAS (HW & edesee € yse nidls ‘OH Bi&T Jda! (el |

4. AT AW & egfesee € yse nitls dE! aaat adl fedt

Options :

42558938120. 1
42558938121. 2
42558938122.3
42558938123. 4



Question Number : 143 Question Id : 4255899796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A fAW €t gaz nf feg tergg =7 gu

1. A& AW Jaret € Upadt feg s=a/Buaed &df Je

2. Bug=a gu feg UF J o A9EA g€ AEr J|

3. Qugex qu few um 7 & féa U AfeT I

4. AAS THW d=8 HY @ yHed 9u 29 UF 996 @ Jaeidd J |
Options :
42558938124. 1
42558938125. 2
42558938126.3
42558938127. 4

Question Number : 144 Question Id : 4255899797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A& AW 2T Jora-99aT »iE yasiEe! &g

]

1. AT fRW & yrare=t sfag

]

J&dT 3T

[fos

2. AAS THY & SaAsT &dd 8 JTE-9gaT €7 widl geien |

3. HA® AW & yua==T #fag w3 sars &ad 8 fHe< gy feg um o137

™

4. FA® THY & Ygistee! (a9 & 8% yers o137

Options :

42558938128. 1
42558938129. 2
42558938130. 3
42558938131. 4

Question Number : 145 Question Id : 4255899798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
THTS! GE9EST M3 Ads fHw;

AHTETE! GETESE & UH ddd [e8uz ug'e ge8er J|

AHATE! WEJELE § huHed gu a9 UF J9eT J|

AHHSE! WEgESE & UH &dl ddeT|

4.  PHHRE! WEGETE 3 UH 996 € dege hiual fesus ugE adl gEge)

'.AJI\.‘-'_—‘

U, 0o, 1,

Options :

42558938132. 1

42558938133.2

42558938134. 3

42558938135. 4

Sub-Section Number : 3
Sub-Section Id : 425589388
Question Shuffling Allowed : No






Question Id : 4255899799 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

J6 fod U9 © w9 '3 U's I ype' © AdT feasy gE

dgfggrs fAw niofea War ©F &<ts Uardt afesr o se-Aoreer J<t 7187 Afas amrsdt,
fTee®s 3 nBgd Jer Jfent & BB3 Fee' & §od WSy & 7 JIwgiea U arfe
oot FET Yfeas T AT der dfen™ <f B0 far oar & ysTag feuet adt feer, <
Brd AHa®! aife yfeasmit @ ygie § nidrn agiemT JI&HT 3 & d e @Ik @& Sq G &
A Ffe-8d feg a3t ue yfeast Bga=t y=u Jet I Bu J Aore=! yf<asT =T afaaws
W?mgﬁwgqmﬁaﬁwm feg amae Je ferer JI fer &t
afgsws (i 639 3 e ae-HoAee! a=! J | F=T gfogns Ry ©f fedussT 8 =F &<t aife-
Aggs’ JInwgfed 80 ©F TR3-Hager ¢ G0 &<ls aw-qa3t feg quUif3z a9s <9 IH®

3187 feiy 32" 503 5216 &4t UT BRET nifsfona=T nigTT-Tes JInmuE yeH afe FHafag

“FRT I “mudel”feg GRET feo Aon fE93t ydliEa A®r € Hug 43t feg qus JEt
J | ofgsms fRw & arfe foret Uat 3 f3dt 31 8a mvast Hies 3 e © 8%, nieard’
3 wg IAEM’ § ACHANET B8 feg UR a9er J |

Sub questions

Question Number : 146 Question Id : 4255899800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jfgeqs i =7 &2ts UaET €3 7% af 7eg 97

1 gfgeTe Ty ate Uamet afesT @ ae-Adaee! o<t J|

2, afgsds W a<te Jdree! afesT @ fAug I

3 Jfggae fAW a<te Yardt afest feg gHe IeaT = fAvg T

o afgeme Ty &<te Yardt afest fog uass fegguar or o= T |
Options :

42558938136. 1
42558938137. 2
42558938138.3
42558938139. 4

Question Number : 147 Question Id : 4255899801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ofggws fHw € Feds feg maet € Aor 3 fae ugifen 77 Aaer J7

1 Jfgsae fiw mee 733 feg niuHed J

2.  dfosvs fiw a&=Ha Uyt 3 nieAs I

3. Jfosds fHw &&=z gaet ©F god »wisH 37 7€ J

4, afgews iy d=% AAfgs © Aot ©f It 293° 9= J|
Options :

42558938140. 1
42558938141.2
42558938142. 3
42558938143. 4



Question Number : 148 Question Id : 4255899802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jfggas fiw € J9 afe-oa=’ 5% A3 8 fa= uafenr 77 AdeT J7
1. Ifgsas AW yaste™ &% uSteg o= J
2. Ifgsms fAw far afe oo && y3Tgg feyre! adT foer|

fa)

3. ofggws fHw fdAT afe it & uss 396 2% a=i J|

4, gfgens fiw wigfes Uargt Sfe oget &% yIiey a<t J |

Options :

42558938144. 1
42558938145. 2
42558938146. 3
42558938147. 4

Question Number : 149 Question Id : 4255899803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jfggrs filu-arfe-Hager €t fesdussT O

I, YJ=s FL-AGEE & YU J96 TF J=! J |
2. ULidEwl -Hader @ def J |

3 YGdRTET »3 gsTael dife-Hagar € AR J |
4, JfgsHs W &2t afe-Hagar @ =1 J|
Options :

42558938148. 1
42558938149. 2
42558938150. 3
42558938151. 4

Question Number : 150 Question Id : 4255899804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afggwa TR FHE®T Hies 3 AN © 88T 3 Wa IREMT § fan AT feg UF ader J;

L. ot B

9, SCTHAHET BoT
3. JHifear 7ot
4, WEHTS A

Options :

42558938152. 1
42558938153. 2
42558938154.3
42558938155. 4



Question Id : 4255899799 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

J6 fod U9 © w9 '3 U's I ype' © AdT feasy gE

dgfggrs fAw niofea War ©F &<ts Uardt afesr o se-Aoreer J<t 7187 Afas amrsdt,
fTee®s 3 nBgd Jer Jfent & BB3 Fee' & §od WSy & 7 JIwgiea U arfe
oot FET Yfeas T AT der dfen™ <f B0 far oar & ysTag feuet adt feer, <
Brd AHa®! aife yfeasmit @ ygie § nidrn agiemT JI&HT 3 & d e @Ik @& Sq G &
A Ffe-8d feg a3t ue yfeast Bga=t y=u Jet I Bu J Aore=! yf<asT =T afaaws
W?mgﬁwgqmﬁaﬁwm feg amae Je ferer JI fer &t
afgsws (i 639 3 e ae-HoAee! a=! J | F=T gfogns Ry ©f fedussT 8 =F &<t aife-
Aggs’ JInwgfed 80 ©F TR3-Hager ¢ G0 &<ls aw-qa3t feg quUif3z a9s <9 IH®

3187 feiy 32" 503 5216 &4t UT BRET nifsfona=T nigTT-Tes JInmuE yeH afe FHafag

“FRT I “mudel”feg GRET feo Aon fE93t ydliEa A®r € Hug 43t feg qus JEt
J | ofgsms fRw & arfe foret Uat 3 f3dt 31 8a mvast Hies 3 e © 8%, nieard’
3 wg IAEM’ § ACHANET B8 feg UR a9er J |

Sub questions

Question Number : 146 Question Id : 4255899800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jfgeqs i =7 &2ts UaET €3 7% af 7eg 97

1 gfgeTe Ty ate Uamet afesT @ ae-Adaee! o<t J|

2, afgsds W a<te Jdree! afesT @ fAug I

3 Jfggae fAW a<te Yardt afest feg gHe IeaT = fAvg T

o afgeme Ty &<te Yardt afest fog uass fegguar or o= T |
Options :

42558938136. 1
42558938137. 2
42558938138.3
42558938139. 4

Question Number : 147 Question Id : 4255899801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ofggws fHw € Feds feg maet € Aor 3 fae ugifen 77 Aaer J7

1l afggae fiw mee 733 feg niuHed J

2.  JfosTs fiw a&3Ha Uyt 3 niRAs I

3. Jfoeds fHw &&=z maet ©F 5od »wisH 3 7€ J

4, afgsws fHw d=® AAfgs © Faet ©f df 293° J9er J|
Options :

42558938140. 1
42558938141.2
42558938142. 3
42558938143. 4



Question Number : 148 Question Id : 4255899802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jfggas fiw € J9 afe-oa=’ 5% A3 8 fa= uafenr 77 AdeT J7
1. Ifgsas AW yaste™ &% uSteg o= J
2. Ifgsms fAw far afe oo && y3Tgg feyre! adT foer|

fa)

3. ofggws fHw fdAT afe it & uss 396 2% a=i J|

4, gfgens fiw wigfes Uargt Sfe oget &% yIiey a<t J |

Options :

42558938144. 1
42558938145. 2
42558938146. 3
42558938147. 4

Question Number : 149 Question Id : 4255899803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jfggrs filu-arfe-Hager €t fesdussT O

I, YJ=s FL-AGEE & YU J96 TF J=! J |
2. ULidEwl -Hader @ def J |

3 YGdRTET »3 gsTael dife-Hagar € AR J |
4, JfgsHs W &2t afe-Hagar @ =1 J|
Options :

42558938148. 1
42558938149. 2
42558938150. 3
42558938151. 4

Question Number : 150 Question Id : 4255899804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afggwa TR FHE®T Hies 3 AN © 88T 3 Wa IREMT § fan AT feg UF ader J;

L. ot B

9, SCTHAHET BoT
3. JHifear 7ot
4, WEHTS A

Options :

42558938152. 1
42558938153. 2
42558938154.3
42558938155. 4



